vﬁ

for the financial ye, 2004

timates ¢ des)|
: rores of rupees (a .
akhcrc pPY()x|mak“

9 3 ; :
and 0.8 ©)." 136 ang 0.99 (4)  1.06and 069

: ~ 1 >t OS G O
1. According to the Union Budget ¢ 8, Ui enmiscatod expenditureone dicatisi

and health sectors respectively inl

(1) 1.16 and 0.79 (2) 1.26 . .
s dolts S @I e, Desg
s o)ty

2024-25 0¥ KDODETOE [oOHON®
® v Ve 6 (”/))2\/\7”(./1)(‘“) .
woSTeen SV o 8% Brardee” I
s $58650 0.7 e 55800 089 (3) 136 g9a.x
() 116&0c®0.79 () 126 B0 ) 136 59805 .99 4)  1.06 B 0.69

L
ENS151845%) 65 Bormhs H0n0H0WN 3505
2

b . fiscal deficj
2 As per the interim Union Budget 2024-25, the 1t of the union eioral actual
. : overn t (provisional actuals) as
percent of gross domestic product in the financial year 2023.24 Wis Erorin (21; ' ment (pro

1) 5.3 percent 2y 56 percer\t ) 59 percent (4) 5.0 percent
2024-25 0855088 So(es 2ges (oem)@8 goéww) (D580, 2023-24 ©Qy Bos#Bos® ol (S5O
e (fiscal deficit) Spe SESTre)BS” Kooy Dod BEOM® @og 7 S

(1) 53580 Q) 5.6as0 @) 59%0 (4) 50%80
3. Consider the following :
Assertion A : The per capita income (at current prices) of India in 2022-23 (provisional advance estimate/
first advance estimate) was more than1.70 Lakh rupees.
ReasonR: The per capita income growth ratezggt current prices) of India in 2020-21 (first revised estimate)

was around 6%.

Choose the correct answer :
(1)  AandRaretrue. Ris not the correct reason forA.

(2)  AistruebutRis false. ;
(3)  AdisfalsebutRis true. "
(4)  AandRaretrue. Ris the correctreason forA.

BoB® B HOKBOHIW :
(BBIES A : 2022-23 (20898 SwOLKY SOTT /0B B0y BoST)E® (B8 oS SRS S030 s

1.70 ofe Grdabe So8 S dod:

s8mo R 2020-21 (F08B $580D% @osae)® ersdid S0 swrad {3 Bew (F0S B0 Lodmdore
6% e &o8.

8BS BSPEER Do Dok :

1) Aedp DO Rea.dp. A% REBS 5080 5000

2 Aady s REDp.

3) ASSy s Rady.

@) Aeafy 006000 Re.dyp. A & R8BS se8es0.

4. Which of the following is equal to disposable income ?
(1)  Personal consumption + personal saving
(2)  Personal income less indirect taxes
(3)  Personal income * direct taxes
4)  Personal income + consumption
Bob B DB 505y, errdirds Sdwdo ?
1) S8 DAGrio + HBNS 0D
Q) 58K ewrao $Hob 6% Hidnen BRI NSO

@) K818 errao + (558, Do
@)  &G8KS ereado +8)3<ﬁ7°ﬁo/

Z 2

ET
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per the Union Budget 2024-25 4,

; financial Ange
of India for the financialyear 209455 . . deSCending order the following sources of revenue of the Government

Income tax
Borrowing and other liabilitieg B, Corporation tax
Choose the corr‘ect answer : D.  Union excise duties
B/ A’ D’ C (2) C, B/ A
2024-25 805 @GS B0, 202495 Qé . @ CABD 4 ABCD
B * RS Sosgsost gros B Bob Tl el @St et
A eTec0 DY
C 260 é)@d)b =ti%ed @é‘ym B, @66‘,)6:15 é;fo‘l
55 SRR DB Dokt ; D Jous ByF 559
B,A,D,C
1) o t h(2) CB,AD @ CABD @ ABCD
What is the percentage share of ;
emissions as stated in Econonﬁcgsrif':r‘il}?g?);?:ga;;emissions of India’s steel sector in India’s total greenhouse gas
2 percent e
) 12pe @ 14 Percent @) 16 percent (4) 10 percent

A 6§ 6?5 66 3 o «
e é‘;@g% $§) “IF BSB0, 5stsortn ango w08 s aecinde (greenhouse gases) Db,
8833060 &% (steel) Sorfo 08 Detseody smos Ky ENHO T D08 ?

@ TR @) 145380 @) 16=80 @ 100

Arrange the following sub-categories of fossilfuel inscends is of their tion
capacity in India, as on 31.05.2023 - el lh%tscendmg order on the basis of their installed power genera

A Coal B. Lignite Gas S Tesd
Choose the correct answer : =
1 ABCD @ D,B,CA @ BADC 4 CBAD

8ob Bere: BOLS GH-BsPoln, grEsREos® 31.05;2’053 88, O THE OGN 6$)8 FoYgo egrdorr o>
E008® @08y

A & B. oS € ™R D. &as
8BS JErereR) Do B50S» 44 I
1) ABGCD @ DBCA @ BADC @ CBAD

Which of the following statements about active companies in India (as stated in Economic Survey 2023-24) are
correct ?
A About16.91 lakh active companies existin India as of 31 March 2024.

B. The services sector has the highest number of active companies.
C.  Within the services sector, business services have the highest number of active companies.

D.  About1.85 lakh new companies were regﬁféi;ed in the financial year 2023-24.

Choose the correct answer : : 5 i}

(1) B,CandDonly @- Aand D only

3) A,BandConly @ A B,C anil D

0% 8 202324 &8 DO B0 88508° 1B3mEo 0B Sonogonss Bob Tgwrs” 9D ady
A 2024 £0) 31 788 558808 Goire- 1691 ofo Basrdo Sondes eIoR.

B.  Hae Sorrd8 kom0 o8HE omgd® (highest) Basede Sopdenmmyom.

= . ~ -
C S oKos™d B o go'a)ﬁ)oéé, A RHOH J020Ho Y doggs® Boir8e Boden ey

D.  2023-24 0¥ éozﬁéQéo@S oetore 1.85 ogo 8D B0V SITEATOD.
Q@

8% SEPGERQ) Do B0 *

(1) B,C%Bcm D P

() A, Bdako C e

@) ABDERED
(4)/ A/B,CHBmD

z 3 e




. |

are v+ - . Lo seCtOr . .
9, What is the approximate percenta‘,‘,’@S Zl;vey 2023-24)3111 the f; anciI:I total size of Indian economy (provis;
estimates and as stated in Econom™® ercent 3 38 perce tyear A atiy e
() Ezpercent @ 5 gé éég S0 SIS fs @ 50 percent
2023-24 68 BoEBS" ‘D‘Pé{a@g‘ 5678 B°00) Sos o0 Bty me Koo (=
e O 58 &

5 )]
@oSaren SoBdD 2023-24 &Y i S0
@) 50 =80

(1) 52&80 @
10.  Consider the following : .o rate (IMR) in India has ;
Assertion A ; The infant morta 'ft};:ly Health Survey.5 ¢ : focthned from 407 in 2015.16 10 39 by 2
Reason R : As per National Fa! alfertility rate in India in 201921 w019-21_ |
he correct reason for A was 2,

Choose the correct answer : ot
(1)  Aistrueand Ris true. But Ris

(2)  Aistrue butR s false.

(3)  Aisfalse but R is true.
(4)  Aistrue and R is true. Ris the 0

(Bod I JBKBoHS» ¢

383055 A : grsaBisos® 4 oo 00 MR 20151660 497 6,08 10 68 308 nos
SEmoR: b toswonm 6B 5055 B0 w§§8g°@6 %o Somsts)n Seo 2019.2, c':3*5'2

RBOFS VLeErarR) Do Fawiw : o p - S
(1) Aesyp £0a Redp. A RS 5660 S

2 A 2.y 520 R 8. Y

(®) ASLHp =2 Resy. s

@  Aagy $6aw Readp. A RIBS S°CH0.

Consider the following concepts related to Indian Population :
Unemployment rate is the percentage of persons unemployed among the population

crectreason for A,

11.

A.
B. . The percentage of employed persons in the population is calleq work
. p '
C In India, the population between 15-64 years age group are consideredrgi/sgi;?n o i
Choose the correct statement/s : R
B only ()  BandConly 4 ABandC

(1) AandConly )

FBETE a74rE $omoBod (808 FrEsed HOKBOHLY -

A aTgrd® 6ETberr af) Sghe waeR) Q8RS Bex woirt.

B, adegrs® edg rons S0 wER) SO aTer DY © wotr.

C  gr883508° 15-64 Soddyore o5 Sahy) EOAS asme,;zﬁ) 3 T DODKY) wTPETre HBKBIo:

RSB Tas()5H oS Foswsy -
1) ABcHH C S 2 BsmsD

12, ionslcgrutgz goel:lc;}vlvmtg statements relating to Indian population/demography :
(@ The ensuring decadal censés o(; ; en§u5 O_Perations are conducted once in ten years.
Choose the correct statement /s . ndia will be the sixteenth in series.
(1) AandB only
3)  AandConly 8; A,BandC
Conly

() = BXoBoin CEm@dh ) A B%B%»C

A S8 K8

B amrgr Bégo Zj,zjii 346" 100 505 BTGP So8ere S0y,

C 885506 oogtss, 5@20&1951 B0, %6 Ko Treth aEF0 aTers BETK.
BB /0% 2088 Bty ® T O, BESES avee Byen ©HTOD.

@ A By B §J°Lé§3) '

() ASBAtn Csimess, @ A BbanC/

@ Csmes

ET
y 4

‘ .
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14.

15

atCh the fOllOWing Populati(,n "

5019-21 as per National Family Heh?racterisﬁ
Population Characteristj, alth S“‘"Veycg (:)f adults in India (age 15-49 years) with their percentages in

A Women who are literate

. Men who are literate Z:f(c)entage of Population (Approximately)
C Womer.\ tx;t(l)l 10 or more Years of s 71.5 F

D, Menwith100rmore years of *"ling m 844

Choose the correct answer : Chooling v 50.2

(1) A"II/ B'm, C-II D‘IV

@ ATLBLCILDIV @ A, BLCIV,DI

SO B0 8% 5845 B0, amsse 7(4) ALV, BT, G-I, D-I
201921 6° & OEETO BT Fgogh $088 1549 0BT HOKY &) HRTeS (adult) 2775 OEE O

ePgP ©FR0 BB oy -
Tege B0 (DoSrBorr)

A ETRRED So8rfen
B, ©F0RgBN Hdosben L 410
C 1080 @08808 K8 Hossores L 715
ARMPY FEzo

D. 108 ©08508 &S Sosyoren apé@z: 2%}2 ?Z"fw i 2;4.4
453 HEPEETRY DY Votkoin : T . 502

A-TI, B-II, C-1, D- -
@ AL B-L C-IIL o (2 AImBLCIV,DI
Sl @)  AIV,BIL,CILDI
Arrange the foH?Mg Deputy Chairmen of ﬂle?léianning Commission in India in chronological order :
A Montek Singh Ahluwalia ‘B SB.Chavan
€ KOt D PranabMukherjee
The correct order is :
1) ADBC @ CBDA - () BDGA @ BACD

r6E00S° (Hedse Hoz0o Go¥) (Bod SHFGROD S SSPKINE0 @B :

A SroBE Dof eI B o9R.8. IS
D ed S

C 3.2 o8&
¥ B0y QoS Has0w
(1) AD, B, G (2) CB, DA (3) B,D,C, A (é) B,ACD

Which of the following statements are NOT true in relation to national income ?
Jled national income at constant prices.

A National income estimated with a base year1$ ca . . .
is known as real national income.

o ional i timated in current year prices
¢ ?altl(;r}allilnct(i):rl;le;ample Survey Organisation (NSSO) provides national income estimates.
. nIndia, Na

(Cl})loose; the so(t;re:‘; ;nswer(fz) _nd Conly 3) AandBonly 4) A,BandC
an (o) 4
DD Y ot ?

% o) (Bob T¥E° .
i@@mdﬁ?j}é (ooaaO;O L,j;o s b PO %8 E08® PBUiPTa0 GO,

oGPt HoDEB0E” €O e 08 TR TGS (real) erBatrirao OLTED.
]é' g’%;aioi?g c::;ﬁ;z N @ggéa’ﬁ BAFERSH BOBTORD ©OBHOD.

. g o I

3B SRVE A ] do8 S0 ¢ ) B 0050 C&‘@a)
(1) ASobain CEmED 4 ABEOEC
(

3) A Bcin BERED
F4 s
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ET

) the nati i ’ : :
1ts with regard to Onalincome estimates in India :
atemer

ng st ‘ L. . |
Consider the followi lg N national income 1N mde;?endent India were prepared by the Central Statistica]
A, Thefirstofficial estima
ation (CSO). RPN ‘ |
Qrgamg ) t of India merged the Central Statistical Office and National Sam ple Survey Office (NSSQO)
B. The Government o
in 2016. . .
N ] Statistical Office (NSO) was established under the Ministry of Statistics and Programme
C.  The National Stalisti
Implementation (M 0SPI).
statement/s:
Choose the correct sta 9 Ao
1) Band Conly |
o 4 AandConly
(3) Aonly

ErEEBE epBAFTRAD oITE Sowofodd (BoB T HBKBoHL :
A SrgSogio HS oy 588 508° TRIEE ©BBE erboirarah woismre> Bolgs s $og (CSO)

BorroBodod.
2016 &6 gr58 ($eh0 S0l Keo¥ SPORARY BBy FESS F0HS 8 SPogOAiTR) 0% Shod.

Kool $0a%0 S wen olBE TF SG3E508° o Keros SO o7 BAHLO &BACE.

N

BB a5 (0% Do Vo :
(1) BZodas» CSm(@D
B) ASRED

Which of the following statements is/are true in relationto agriculture labour as per Annual Periodic Labour
Force Survey Report 2021-22 (based on broad industry d1v1510n as per National Industrial Classification-2008) ?

The percentage of male agricultural workers (all India level in usual status) was less than 40% of total

* agricultural workers (all India level in usual status).

B.  The percentage of female agricultural workers (all India level in usual status) was around 66% of total
agricultural workers (all India level in usual status).

Choose the correct answer :

(1)  Bonly @)

(3  Neither AnorB @)

$05)08 oS (5508 8 8 AFBE 2021-22 (et an.@ogbé $888e0 2008 ($5°80 D BFE Defesdd

egR8ore) ($500 zéééﬁoﬁ) SBH0H Sowohod (8od méagoés aa/a& 2P ?

A grEEG%06%D Jwdo Fgeies o HgSIcsH S"%éw@e, grEERE0SN e Jpaw YWY JFrad
SB)e0 40% S8 K9 ﬁ%& |

B 583506 Tngo orter dpow sgsnan ?6&9’006’5 OEBE06% Aerdn paw Wiree D
5e0)0e0 Koo 66% ﬁaa&

835 REPTPaR) o8 Saskosn -

1) B

1) BsmgDH @ A0 BBk
G) A H8a BBotir w @ AsmED

y 4 6
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ET

which of the following statem,
e

A The growth rate of Nomj ed ¢
owth rate in a 0 nat; .
2021-23 8rogg va tional income in India is/ are correct ?

In 2022-23, the h Ue a 4 s
Per capita e dded (GVA) at basic prices was more in 2022-23 compared to its

The per capita net sgqte don Catcoupyg
‘\ . .
estic Nt prices was more than the per capita income at constant prices.

Telangana than j
In Ha
Choose the correct answey. . Tyana, "oduct at curre ice .
S | urrent prices (base year 2011-12) in 2022-23 was more in

) A and Conly

2)

(r558508° erBATTRaIRYa @ A B

y SENSTA nd ¢ (@) Band Conl

A 2022238 (Dee50% SR ) y (4)  Aonl
BEES Kipes g)m;s;@@s SSging o Y 0f 90/a8 ey T ) ’

Qo © Dens 60D (GVA) £ Benin, 2021-22 8 a0’ 608"

2022-23 &8 (5 DK S 2
B. (DS &80 %5 08 Sea® POySpts, 202223 & A& 08,

nts rq]

2k é(gomi g a@cojé BE0S son e-;moa;o RS t550 55 B30 Wmmdho Kol My Gob.
) 5T @os, Stel oy S8@rE)D (58 Hod&Bo 2011-12 &) Lo %08
0% VIR Do Bty - ’
O A Caimg o
@ ABSBamc (3 BHbosn ChmEH @ ASHSD

As per the second advance estim,
. ates of natj ;
Implementation, Government of Indian:vtﬁci)nal income 2022-23 released by the Ministry of Statistics and Programme
, Which of the following statements are true in relation to the growth of gross

value added (GVA i

A In 202(5-21, agf;ﬁi‘;l:;ff:ﬁ‘i ;“ieci sectors at 201112 prices.

B. The growth rate registered by thesaeCt_OrS I:g%gtered a growth ratg of around 4%.

. In 2022-23, agriculture and allied segci t;’-lﬂfi%%and alh:zd sectors in 2021-22 was more than 3%.
Choose the correct answer : s k_‘ggrfs;tered 8% growth rate.

(1) A and B only 2 A Ban cfz
Paitels @%éog@ {ege08 0BG BFsee etien S50 é% T DB 3298 o
s (H560, 2011-12 606" S55rah H0a swot Sorre Kxe Des Hhod HEE Sowood E0O
a';ga)ée)é‘s O ey ? ® =

2020-21 &° S5HPcd Kb eeos Ko
S5 B SO Sorren 2021-226 $Bre TR KB Beo 3% SoB I,
2022-23 &8 HgSrcs> O B Borren 8% HFV TN Baow.

5 $5rgraed) QoD Bososw :
(ly AdamB S0 55
3) ABx»C Soo(&53Dd

ments is/ are trueinre

Which of the following state
A.  The value of only intermediate goods and se
d ie.inoneyear,1sca

(3) AandConly 4) BandConly
B SRTrcho 2022-23 Dok S0OLK

e oS ET A% Sy Bendo $3nts Seran,

A.
B.
C
%3
@) . ABBC
(4) BB CIPED

lation to national income ?
rvices produced within the geographical boundaries of a

lled gross domestic product (GDP) at market prices.
if it is positive, is subtracted from GDP.

nation in a given time perio =
B. While estimating gross national income, net foreign income,
(Cl?oosgthelconeCt answer(;) AandBboth (3)  Neither AnorB @) Aonly
only 1
& DO/RD 2 ?
e 3 oD (Bob TFR® o
Arrase8 omoBoD & & -e.8 OF PIPYE J0Seo o aH)B DooudS HEBEo I

A e¥ 6% sPe0d e 2.8 $0SE° SDDS
i 8&65 655@66 oisd

DHO DendH éf’té;so 2 . %S D

0 snbaiperoiey ©05F TOT T
%)

5008 BRFRB.

33 $Srgrard) HoBE Slevetl
PI°)), A@ﬁOﬁp BBOC‘:J"

(1) BSeED 2 _
@ (7] ero.

ARS8 ©otrdd.

38 smraird), ©b GG #oll, dxo BErE)8

=

(3) A®BS»BBER D () ASPED
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22,

23.

ET

alues relating to India :

Match the following indices with their v Value
Index and Year I 0.437
A Gender Inequality Index in 2.022022 0.576
B. Human Development Index fn 2 i 0.633
G Human Development Index 1N 2( v 0.644

cljhoos;t?(;;r c :ﬁam: @ ALBILCT 3  AIV,BILCIT 4 AILBIV,CI
;v)éézsavz;é Sopodod Bob smdes> T8 ), 53@:5@;8“ BEBG G -
Joed) Ho0aky Hoddse e«
A 20226 Do esmEss Krd L 0.437
B.  20228° Sr38 0B Sod) n  0.576
C 2021 &° SRS @B o) m.  0.633
V. 0.644

3B 8O oY Fasosw
4 AILBIV,CI

1) ALBIVvCIl (2 ALBICH @)  AIV,BI,CII
Match the following production of various crops (second advance estimates) in India for the year 2023-24
Crop Name | Production (in Lakh Metric Tonnes, approximately)
A Rice (Rabi) L 1289
B.  Shree anna (Kharif) 2284
C.  Oilseeds (Kharif) 975
D.  Maize(Rabi) 123.6
Choose the correct answer :
(1) A-IV,BICI,D-II A-1L B-II, C-IL, DIV
A-1V, B, C-1I, D-I

(3) A-LBIV,CI DI
gRESBI0S° (8ob Sotesd 2023-24 &°, & Howe &&)8 (BoKS Swotsdy @osTe) & 285505 ¢

ok DB a8 (ofe BB wined® Hsrtmr)

38 (59) L 1289

& o3 @85) I. 2284

573 Aozen (965) I 975
“IV. 1236

~ (2 AJLBIOCIILDIV
s g (4) A-IV, B']II/ C-H’ D-I

S BErgrrd) JodE Fokosw :
A-1V,B-1,C-II, D-IIT
(3)  A-LBIV,CI,D-Il —
Arrange the following states in India in asceniélmg order based on percentage of population below 15 years of age

A
B.

C

D. w5Es) (69)
8

)

in each state, in 2020-21, as per National Fanjﬂy Health Survey-5:
A.  Arunachal Pradesh B.  Chattisgarh C.  Jharkhand D.  Punjab
Choose the correct answer :

C,D,B A 4 D,BA,C

(1) B,A,D,C @ ABCD @)
e80%H Henoe 6By $5-5 (Bs°80, 2020-21 &%, gr8sEEos™ Bod K8 Togos® 15 Soddjre Sy o

S5 Sabiy) B) BTGP B0 WHPBoT B9 et (ES00s® O3B

:& OBETSS (T8 B.  38%5KE C.  &rbpolk D. Sozd
VBN BIrere) D028 Sotkosn - '
1) BAD,C @ ABCD @ GCD,BA @ D,B,AC

Z : | 8
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g relating to India -
Match the following indices with their valuest ke

Index and Year . I 0.437
A Gender Inequality Index in 2.022 2. I 057
B. HumanDevelopment Index 1n 20 {0633
C Human Development Index in 202 ;

IV. 0.644

Choose the correct pairs : e : !
O Mbyvem @ aBLGL O Avprcm

@ ALBIVCI
FEETTI8 Somo§od (8od rdos 5"@"5@?/’@ VoS08 adstsingy

% $0a Bosdo (£ o=
2022 6° 9ol witsrss Gmd I 0437
B, 20226° $mi o953 %09 L 057%
2021 6° &5 o) d M 0633
V. 0.644
33X adon oy Bkwdy ;

O ALBVCI () ALB o

© AVBICH @ anmpycy
Match the following production of various crops

Crops (second advance estimates) in India for the year 2023-24 :
Crop Name Py Production (in Lakh Metric Tonnes, approximately)

A Rice (Rabi) - ".,:,L 1289

B Shree anna (Kharif) I 2284

C  Oilseeds (Kharif) ~m 975

D Maize (Rabi) g IV 1236

Choose the correct answer :

()  AIV,BJ CI0,D-In

(@ ALBL CII,D-Iv
@) AILBIV,C1D.am

4  AIV,BIM CI,D1
PEEEE0E® (808 Hotsess 2023-24 &8, & Fotse &&)8 (B0 Swosts ©0) & sy -
Bob D% 888 (vfo (@S &R Skrtm)
A 58 (88) L 1289
B @ o) @65) L 2284
C %3 Aoaen (@8%) I o975
N ) V. 1236
833 éaﬁ:vmm&)& Q08 Fkndw
(I AIV,B1L,CI D @  ALBI,CI,DIv
@) AILBIV,CIDa. @  AIVBII CI,DI
Arrange the following states in Inig nascending order based on percentage of population below 15 years of age
Ineach state, in 202021 a5 per National Family Health Survey-5
A Arunachg] Pradesh B Chattisgarh C Jharkhand D.  Punjab
Choose the correct answer :
) BADC @ ABCD B3) CD,BA @ D,BAC
EAH Sinog &g 85 se0, 2020 21 &, grssddosty Bod (%8 wgos® 15 oo Sk SoB
B Scyy SR BT 280 seriom T 68 (06t SRV
A ot gds B s85xs C  %rbpof D.  Sowd
833 éé}vmm@& 20D Sckoep -
(1) BA, D,C @ A B,C,D & CD,BA 4 D,BA,C

Z]
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h Of the fO]lOng Stateme

Whic
with regard to India’ Ni(s) 4
A SRS iy S/are .
i The total fertility rate iny u!ation true jn relation to India’s population?
G- The crude birth rate Ndia i 2growth: the year 1921 is regarded ,
2 of Popyan.- 17 wa y s regarded as the year of ‘Great Divide'.
Choose theé correct answer : ation i, t :19 1.9.
n 3 .
3?, B ;nd ; 5 ) Bony ia in 2020 was around 24 per 10,000 population.
(SRS BTED VOWOKOY Bog y
A ggvéééé% BTF® O ¢ mé&)egeggs N @y Aonly (4)  AandBonly
SBEE 2017 6 2D ORER ?
g0 Bome <8 R0HeEyooR) 5 Defeay doddybore Bpaedo.

. 2020S° grOEBE eszrgn S8, 5 Bl By 1 e 0R
o 4 & '
450w HEPGRRR) OB TkuSy : ¥ 8¥are Bén (crude birth rate) ©& 10,000 gty 24T GO

O

) A, B&00as» C @ B Sms,
Which of the following statements a, @ A S\ @) A0 BLHSED
A India was the largest produce out .
B. In India, 16 livestock censusr .
Choose the correct answer : we
1) Neither A nor B
(3) Bonly ((i) A only
Both Aand B

ggoéééé é?ga’)%’oﬁao SoBA» w20 50n°e>§3«) _° an -

6 55 S0m0Bod 8ob gasRS” 2[R0 8B80/0 ?
A 2021-226° ($D0508° grEEEEo ©8 g e
B. wééaéoé‘s 165 HB Keseosren (liVest:ck w .
55 BETERRY DoBE Vi :
() A%B BBOEr 59 Q) AdwEd
() BaEEED @) A0k BBOLS
share of India’s exports (in US dollars) in the year

re conducted in 2020.

§)2020 &° DEEFOTS.

Match the following major sectors with the perceﬁ%tigé

2021-22 :

Major Sector . Percentage Share (approximately)
A Agricultureand allied products L 67.8
B.  Ores and minerals o 119
C.  Manufactured goods m 164
D.  Crudeand petroleum products v. 20

(including coal) ’ -
Choo answer : w7
4) sithrf/c;rgcct:-l DI @ AWBLCLDIY

et 4y AILBIV,CL D-II

3) A-ILBIL C-1,D-IV

806 ($T°5 Sormewd 2021 Host & Sorre TS (RO roBos’) BRGNS ¢
S Borre 23

»n& ROk DKoo
e S0 (RSwed)

BES Gorren foree> 31 678
A ssdnah Soba @008 ET Top 119
B :i&, PALAIOY (ores) oo oerey AL (mmerals) - 16.'4
C.  S5rd S0 V. 20
D (&E soboso 0 6B

(&°r58° EO%)
e @ AMBLCLDN
)

(1)  AIv,BI,CL DI @ ALBIV,CIDI

@  Aq,BILCLDIV @
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28.

29.

ET

Consider the following statements timates, the services Sector in India is estimated to have Brown o

.1 es
As per the pronb“m‘? i nancial year 2023-24 .

Assertion A: in the i
L7 percent iINET00 collection i ;
above 7 h({l.; ( t] nd Services !axm” collectiz and the Issuance of e-way bills resulted in sjy, ]
ReasonR: Both Gooc 1‘h‘of - BrATS daily nand failed to support the transportation SeIViggg
W C

digitgro

gri;w’lh in 2023-24.
Choose the correct answer !
(1)  Both Aand Rare true and
(2)  Adisfalse butRis true.
(3)  Both Aand Rare true bu
@)  Aistrue but Ris false.
(BoB aRgagoD NDONROTHAD
(BBISL A2 @rEdE ©olSTre (58

DEPSIT BOENO OB “
) s gk 8-85700 ey o sdmorm et Gifen &6 St o)

TEmo R: 5K VPO Hdy) TraHen &0 ’
éo—;)é N (sin%gle digit growth) 8 50508, 2023-24 88 Bapeze Hiser 568 amdo 258,
®

$BS SLErErae) dodE Dk : 3

(1)  ASBc Ragy, A RIS 50880, @ A8y s Rady.

(3. Ao Rady 59 A REBS 5680 e (4)  Awdy s REQy.

Which of the following statements is /are true in relation to cottage and small scale industries in India ?

A Basket weaving and pottery making are examples of cottage industries.
B.  Smallscale industries are more capital intensive compared to cottage industries.

R is the correct explanation of A,

{ R is not the correctexplanation of A

o, 202324 685 BOSH0e® grssiisuets Sz soro %8 B 7% oy
S350 20008, ”

Choose the correct answer : ] ;

() Bonly () BothAandB ()  Neither AnorB 4) Aonly
ErESBE0S LY S0 D) S8:F HoEHL BoDOBODS Bod argged® H6/0D ap ?

A edgo oS HOa Hoke Saird HEB HOFDOH amErtemen.

B. %85 $5oEh08 PFsipd, O SO H0Fe b Sarerss Fo@sks S9A sotrm.

8BS SErErae) DodY Basww | =3 ,

1) BIwED () A%BcnBBOEr (3) A R0 BIor =N (@)  ASHSD

Which of the following statements are true:m zelation to national income of India ?

A Intheestimation of gross national income, the income generated in a given year, within the geographical
boundaries of a country only is considered. g

B. The income earned by the Indian citizens by working abroad is a part of India’s gross national income at
market prices. :

C. Toarrive gross value added at basic prices, indirect taxes are added to gross domestic product at market

rices.

D. (%ross value added at factor cost is equal to gross value added at basic prices less net production taxes.

Choose the correct answer : £

() ACandDonly (2) B,CandDonly (3) A,B,CandD @ BandDonly

FEETE erBASTTraiS $020609) L&o@?&%&@eéﬁ A 2.y ?

A Sro wb@r$B) ol Sanerds, 28 DY $0S8)T0S’, a8 BF PRDS K0T 6o HRoSeaS
STRAIRD) SPIEE HOKPISE Bibobooirts,

B.  gr88 e sl dered® 59 3 800D erraho GrEERY eSS’ & griore dotnod.

C.  ogr8 608 (basic prices) e Dens HB0HH (GVA) ©0s aHerDS S0 S50 o D¥Tr)88
BB Do Senheets, s |

D.  &&)8 ssre b cse)a;s é:(;e; g)mg; L0008 =eges o (basic prices) 26;.30 Dend &Y —IBY
&8 SSen. . , | '

8BS SSrerard) JodE Bonsw :

(1) A C%8c» D &m@dH (2 B,C 00w DI

3 AB C&bowD 4 BB DIRED

Z 10
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31

32,

33,

ET

In India, the levy of wealth tax hag beenap,
abolj;

shed with effect from the assessment year :

19-20
o 5;0 &* & HE :5(2) e (@) 201415 @) 2011-12
grBSB30 B0 DY 053@’&)&5 " 2 L ’
1) 2019-20 @ 2016 Do 603555360 (assessment year) o0& 8¢ B8 ?
-17
Which of the following statements - RE)) 2014-15 (4 2011-12

India ? COrrect about the national multidimensional poverty index (MPI) in

A The MPI has been estimated .
B. MPI estimation in India is iflor-lndla by National Institution for Transforming India (NITI) Aayog.

Programme (UNDP), with s far < With the global MPI published by the United Nations Development
€W customisations for the Indian context. ’

C. The MPI estimated by th
standard of living. BrRE Aayog has three equally weighted dimensions : health, education and

D. TheMPlindex is obtained
Choose the correct answer : as the product of head count ratio (HCR) and intensity.

A,Can

A GrESBTRB $0n0Bo, B SPASH (MPY) SomoBod Bo0 TS 0D 3 7

. s i g é;&ﬂég 5508 ¥ HE e@rh woSe BcHLo BNk

i 8 o 5) e ). N T, wEgoreyy S8 ©HHB segEsho (UNDP) 550003 (BHoPS 2055050

DEBE Jrd) TR GRESRE0S® nFvtne HsE “rdY wose Fcheo 2BNOB.

C 58 o@rR woice 32 s DEOY rHeb «Bhro, D SO EHS BESrwo - & St 0TV
JS groEroy 2O 280A0R. : L)

D. o 8805 A8 (head count ratio) 05w ro|5E FE), 1ease8 FwEX oF0S0P DEOE ed.

D% SEPEETRY DoBE Baswin Ty

(1) A, C%08cw DErED @) BSbowCERED

3) AB®D oo 83D @ A,B,CH0OS®D

Arrange the following countries in descending order based on their foreign trade values (in
with India in 2023-24 : '

million US dollars)

A United States of America B.  Russia &/ Singapore D. Japan
Choose the correct answer :
(1) BCDA @ GCABD ® ABCD @ DACB

2023-24 &8 er55B0S° (8ob Bore B8 S8 Dendo (OHS oBs° oot sgrdorr, A oS8

Eo0s® et
A oo docknd Tolefer B
8BS SSmGrarQ) DodE FHosodw :

() BCDA (2) C,A,B,D ;
are truein relation ’Eo_ éefvices sector in India ?

es are sub-sectors of services sector.

ced the ‘Service Exports from India Scheme’ in 2015.

Bars C. 20K55r0 D. a2
3 “ABCD @4 D,ACB

Which of the following statements is /
A.  Transportand hospitality servic
B.  Central governmenthas introdu

E})loos; t(l)f1 ;orrect answer : 5 Both B
4 Aonl
3) Neither A nor B @ Iy rY y
o Bob T5® DB/AD 2.y ?

PSSR EoS® Dae Sorrd8 Howoko
5. Golod® 2.8 adgrrio.
A Qe DO VT
B 2:10?0 @ﬁé:;?; ;e‘,f%o (55080 5,08 Do B HPE ©F TR FHEDGB.

flg):u é:;;:z;g& oDE AW B A:»acg BBor
A SRS
(3) A bosn BBoER 5D i ‘
\Z 11 P.
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36.

ET

o -

iectives is/are mentioned in the \py; Populati icy (NPP) 2000 ?
ol st ot Py (7
B‘. Prco 1i1eote elayed marriage after 21 };ears
C.  Achievéa stable population by 2047.
Choose the chrect answer : @) Band C Only
(1) Aonly 4 A/BandC

3)  AandConl <
;o)éoﬁa aaalzasv e’oz;;»:zo-zooo@s Bod & ogoRo/eTOD BEs6, 20A0E ?

A 3go% s ot aso e 2003 HON TYHH won, T bos® R8s B 5% sty
JHoSe0. . 34

B. 21 Sosiore sowisy) $3) S8 DY TV Tty (Hameroso,

T 2047 55% esogr KR5S (stable) & SPHODOO.

VIR JSrErarQ) Do Fohosm :

(1), ASeED (@) BB Cimgs,

(B ASBa%H C ool 4 ABSBamC

Which of the following statements is/are true in relation to the estimation of national income with the help of

output method ?

A Under this method, the market value of final goods and servicesg inan economy in a given year is considered
for the estimation of national income.

B. Under this method, to avoid double counting, the value of intermediary goods is not considered while
estimating the national income.

Choose the correct answer :

(1) Bonly (2 BothAandB ()  Neither AnorB 4 Aonly

SR8 38 o> erdatrmrairg) wote SaHerd8 $omoBod BoB aegsedt H6/59 2.8y ?

A & 3E8S° pEArTrar) eoste SoHLRDS o8 V8§ SoSE)606® a8 ey HHEN w08 5% DS
ST DS H$BKeSS 8 Sxootrts.

B. & 5gaé’, o8 VOB Botd T B80S0 doBohd e, Sogissgo (intermediary) S50 Denso
$BKeas et Hostis.

ST SSrgraed) Dos Sotwsn |

(1) BSwgEd (&r ADBowBBor (3) A B BBoe S (@) ASHED

Which of the following statements about the Finance Commissions of India are correct ?

A, As per the Article 280(1) of the Constitution of India, Finance Commission is constituted to make
recommendations on the distribution of net proceeds of taxes between the union and the states.

B.  The 15t Finance Commission made its recommendations for a six-year period from 2020-21 to 2025-26.

C. The 16 Finance Commission’s recommendations would cover the period of five years commencing
April 1, 2026. fd

D.  The 16" Finance Commission sha]] make its report available by 315t October 2024.
Choose the correct answer : ;

() B,CandD only (2) A,Cand D on;’l’yr,.-,, (3 BandConly 4 A,BandC only

PBSEB S0t 688 3050 Komosod 8o fsgg;é@@s D 2y ?

A ZoBo 865w oolape Sog%s, DG D) T8 Hobd Baherds H020§0D BIVTen Fabira wld grdd
Tes006%) 68800 280(1) ($se80 wpg éoéao&)& QT?)E0 SXG.

B. 155 &% Sosbo 2020-21 08 2059 566 @i b RoSET® Semd8 H3r6Res Tabwo w6n0B.

C  16% 0 50500 RFETen 2026 HBS 18 BB 5008 SWafs) 553‘) 0% SoSHT0H $020§0D Gotrom.

D. 165 ©B8Y Koo & Q38E5 2004 85 31 B8 @oBord.

N8 ST 0¥ Bamgy - ©

(1)  B,C%8c%D BERY

3)

, C 500050 D Sm(e55D
3 BSba Camgd o 4

@ A Bbc C5m@d

4 12
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40.

ET

p the /India State Of FOI‘ES
correct ? £ Report (ISF
The total forest cover of R) 20271’

The forest cover in Telap, € Coyyy
C'hoose the correct answer : 8ana W&Vgis less than one-fifth of the total geographical area.
@) B only € than one-fifth of the state’s geographical area.

) Neither Anor B ®
Both A and B
58 OB oD IBBE (308 < 4) Aoonly o

(
3 (\)QS
55/0 %830/ ? = &B§ ORRG) 2021 (He~vo, ro8GE0s’ whd Dhgop 8ob S NNSLY
s Bido @& Ingo R ga
Beorre 008 G908 98 =50 Lo weyd) pho misS Do Bo8 BB Bob.
$ _‘\Zgoés —08% 27:)

As Pe

is // are »

, which of the following statements on forest cover in India

B.
&
6w D008 o | Mo wiss So S0 I &0k,
S
@) B &8
3 ARG Bl w, 2 A &62 BToKr
ich of the following i ASS
V1Vhlc ];)ilateral de;\;lng 15 mota component of India’s external debt ?
(3)  External commercial borrowings % lgii\;:itle forlicgaéi debt
ultilateral de

Bob FBE° DB FBETE DIES ameaodt
(1) Br88 eweso °
3) kel arehess axnePen

o8 griKo ot ?
@  (Ponden SEHOE a0
4) ooy $Eok eweso

Arrange the following crops i e E
or 4thgadvance estin':gates)gs = deScendmg order based og yield per hectare of these crops in India in 2021-22 (as

A.  Rice B.  Wh - 4 .
Choose the correct answer : eqt & Bajra D. Maize
m DBGCA @ BDAC ® CADB (& ACBD

6888080, 2021-226° ($8 IPTEHS Sote Brbwd (4 E0oBKy ©oSTPe) sErdorT [Bod HoLO 03B
E06° ©8yEw. v

A $B (rice) B. Riosm c - Sy D. nHEQ
405 HETEPIY) HoBY B
1y D,B,CA 2) BD,AC @ CAD,B @ AGCBD

Consider the following statements related to‘Nagar Van Yojana’' (NVY):

A, Thescheme has been implemented by the Ministry of Environment, Forestand Climate Change, Government
of India since 2016.

B.  The funds for the schemeareav
2020-21 to 2024-25.

ailable under National Compensatory Afforestation Fund (CAMPA) during

C  Thescheme aims to enhance the quality of life of city dwellers.
Choose the correct answer : G

() BandConly
(1)  AandBonly @ AB ?nd G

) AandConly
SK8 $% Tress’ (NVY) & 80208

A g8 (HEHED SoEROR0,

oD 80d mswy;&é@?ﬁs%ozﬁmw :
ebd) SO as"é‘!afaé'ea iy Soo@E T 2016 0d B DY woen

BH. ¥
) 2(()0_220&21 (oo 202425 555 5458 S0BRO oBHAS $o& (CAMPA) 8ot & H5¥o &0 dgoen
/ - O
Boemend® STOD- 4 3
C ::6 :f» © éé?mwéézéa ooty SEIRY & DFEO o SogRict.
. V!
8B Smgraed) o8 Sasod | (2) BB Czﬁ:v@efb
(1) AZBako BSRED
@) A, B850 C

() ASBain CERED

[Z] 13 P.T.0.
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' cing states i
Match the following crops with their largest PT oducing states in 2021 - 22 (as per fourth advance estimates) in

Indla : ],af}-’.est Producing State
A fifip [ Karnataka

. ‘ l ~uiarat
B. Sunflower 1. C -U‘]““t' Saiud]
C.  Total pulses 118 W«(sih ek
D. Groundnut 1v. Madhy
Choose the correct answer: ) AV, BILC.1T [

b » D=1, C-IT, D-1

(1) A-I1, B-111, C-1, D-1V (4) A-1,B-II, C-IV, D-111

() AJILBI C-1V, D-11

rBEBE0E® 202122 (T KOsy ®OFR 00X, 808 Soneits a0 wighsorr Holodd lapos

238D, ”
Bob w8 DG 68 Tgo

A DB (rice) L Elop

B e BB L heoed

C  3wdo IRy GeTegen m O3y BorrS

D, 3% €K V. ol B08

I SRR A DoDE [Akosw
(1)  A-LBIICI DIV
(3) A-ILB-LCIV,D-II
Which of the following statements is /are true in relation to Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) ?

()  A-IV,B-I,C-lI, DI
@  A-LB-IL,CIV, DI

A.  Itconsists of two major components namely :
i Accelerated Irrigation Benefit Programme (AIBP) and
ii.  HerKhetKo Pani (HKKP). ™

B. It consists of two components namelyPeriDrop More Crop (PDMC) and Watershed Development Component
(WDQ).

C. Her Khet Ko Pani has four sub—comi

Choose the correct answer :
(1) ABandC (2 AandBonly- (3) Aonly (4 BandConly

BE5500@ (82 Domrowe @resd (PMKSY) 555008 $02060D% (8od amgmses® 28/ 2y ?

A 5058 Bo (G gRrren eIMoN. &R :
i SeS50830 O Fhe (HBRFassEiEo (AIBP) Sdak
i, %5368 »J(HKKP).

B. =0t Botd grrren aamom. ) [H8 D ) Sos (PDMC) Hcin sref8 Bdehvots seodFFes
(WDC).

C &6 35 & 0 (HKKP) arenrd 6ermrod OA ¢od.

8BS BErrrard) JodE BanEw :

@) AB&BanC 2 ALBASNBISFED @) ASPED (@) BodEH CIrSD

Which of the following methods are used to measure gross domestic product (GDP) in India ?

A Savings method B. Output method C Income method D. Expenditure method

Choose the correct methods : il

ents.

() B,CandDonly '@ CandDonly

(3) Band Conly .. @ ABCandD

8ot S5E0s” 380 erEstEod® Spo B4@rEH FOSrDS SHTNAD ?

A D 568 B ef8gs . C  omaddgd D Sab 588
S8 $Erered)) Q08 ks ; ¢ ¢ )
(Y B,CBa5n D Sl () C%Ba%o DS

(3)  Boasw Cr@h 4 AB,C0™D

Z 14
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.ch of the following stateme
. o nts ar,
population Projections f S are trye . - .
" PThe population a dor India anq StaTerelatlon to India’s population as per the Report of Technical Group
Fertility rate and fhe 15-29 years w s 2011-2036, Ministry of Health and Family Welfare ?
€ tof the total e life expectan, as More than one-fourth of total population of India in 2021.
%10203‘36 otalpopulation, the pr ch are going to increase during 2011-2036. ,
- 5 ortion Of po l . d d _] . 3 ) :
pulation aged under 5 years is projected to decline during
p. Out of the total population, the P
Choose the correct answer.
) A, Band Conly
@) Zg ;r;dz only 8) A, Cand D only
e—sﬁsfig €00D (ooéé;, Soo@ & i ) CandDonly

5858 (5 JIOE Bsto, erssd 8 2011-2036 SoerdB VOROHOD FE
A 2021 &® 15-29 ‘éoéé{s’me S d;,&mg:ng) Jdozosod (Bob a°§a>§e>e35 D 2By ?
B 2011-2036 $ot5008®, K9 wvgr, grssds Fwso amegrd® 1/4D S0 Sl DN GOB.
Ci 2011-2036 53(528"@2 65’ ;Z:bsséa)g Bew 5oBcsn esdi: [0 RS SoTmyom.
2 _,O 230 “« “ >
é@é’woé&) OB ISHe0 a&ao;’oess 15 SoHeyore HODUY Bo& S5 B0 EOAS cargl @

D. 2011-2036 éocsegs"ooé‘ 0S50 s .
7 SRE erS® 5158 B0 2IHB0LR 1

4% PGP DO % Bcokin - DB sTer TS0 ) 05 &83rPoSE0 8BNOE

1) A, B085» C Kmté;%: @ A C%0 o D SIS

3 B, C 508050 D éﬁtééo @ CbanD ;;),o@;ﬁ)

A
B.
i
Proportion of elderly population is expected to increase during 2011-2036.

B4 aegrdy ©oBT° 30D

b0

are the limits of the

As per the Fiscal Responsibility and Budget Management framework, which of the following
duct by

3;3::9;43;?;"29;;5“;8“" debt and the central government debt respectively in gross domestic pro
()  65% and 45% @ 70%and50% (3 75%and55% () 60% and 40%

2025 $78) 31 &8, Bod &S* D 85 ey SoBAo 2ge DBETee Dsre (HEeB0 FGrdes (DHE0E] @0
205 BolE (eHE eeo G HOMHFoen Jpo B8@r)8S°, SE™

() 65%%00045% (2) 70% DA 50% () 75% SBan55% (@)  60% H0 40%

Match the following items with proposed expenditure to éachitem in the Union Budget 2024-25:
Proposed expenditure approximately (in Rs. lakh crore)

Item
A Defence L 1.16
B. Rural Development IL 1.52
1L 2.66

C.  Agricultureand allied activities

D.  Information technology and telecom

Choose the correct answer :

1) ALBLCIV, DI @ AIVBILCIDI

() A-LBIILCLDIV @ AVBLCILDE

Bod w0 1024-25 Sol& a)éesés FBS (8 @08 DRI (H8rBS 55053058 238G
$BFaE Hgoho wirm (OFL ey Srrahed®)

V. 455

®odo
A tgm L 1.16
oL 152
B oerd3 M 2.66
C a0 LoBas0 30000 s"ééée"’aow IV 4. 55
D tmaes o8B $O0 BOED s
B Amoie f\?ffn? == @ ANBILCLDI
-1, B-I, C-1V, , 4 AIVBIL C-II, D-II

3)  A-IBIILCLDIV

@ 15 P.T.O.
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true in relation to nationa| i0ma
e?

Which of the following statements is/are
. . :acig a true measure of
A. National income at constant pri¢ es1sa - the Purchasing power of i
. . . ica better Index of ecc ; people.
B. National income at current prices isa Nomic welf, - P
S compared with national inc
Ome

at constant prices.
Choose the correct answer:
(1) Bonly (2) Both Aand B

e ST Sowodod Bod 305&)‘305“ DO/
5 Sfben B8 Bentoshy .
(Do roften 88 EPHE VA Sogmsc,

(3) Neither A nor B (4)  Aonl
only

N , A ¢
o) NES)Y ?

R 5506 ardasrara®o

A.
. A O‘.’DO, @6é 3 VA
R S0t Ko8 (B $s0s® BT & cooéc‘fmr'{)& NPDOUPDE 2.8 kRS Smd)

B.
BB SEGETR DoBE DA :
(1) B&SwEd () ASBW B3P () A%850 BBor W b

Which of the following statements is /are correct as per the Economic Sy rvey 2023-247

A, TheIndian e-<commerce industry is expected to cross US$ 350 billion by 2030

B. The Indian retail market is highly organised. The share of modern retail (including e
-commerce) will

increase to 60-65 percent of the total retail over the next3 to 5 years

Choose the correct answer :
@ B only £2) Both A and B
(3) Neither A nor B (4_)= . :A ()nly

s B 2023-24 (5750, (8ob Tw50e’ D8/ 2y ?

A 2030 B8 gESEE g-5°00) HOF 356 :é)é'?oﬁaﬁ OO PG WHKKEY &sZroBto 2BACE

B. grSER30S8° D8 S0yl (retail market) 2o S050OETKH. TG 35008 5 SoSSTres® Iwdo g8
é)vagﬁés 8508 DYE SeTYES Toer ('a—sg‘;ép@és EO) 60-65 38 HHH0D. -

8BS SErEETR) JodE Bohosw :
(1) B3rED
3) A%8cin BBokr =9

Which of the following statements is/ are true in relation to agricultural prices in India ?

]/; The Agricultural Prices Commission (APC) was set by the governmeht prior to 1970.
i R i . r
epresentatives from farming community acts as non-official members on the Commission for Agricultural

Costs & Prices (CACP).
Choose the correct answer :
1) Bonl - AT
O oy (2) BothAandB - (3)  Neither AnorB 4 Aonly

FOEBE0E" SEPADE e BomoBoni Bod mypgws® HB/DD el ?
A (@EDEO, 1970% S0t SBRHE (e S8iSsH (APC) Dome TR0,

B. B dozee (farming co N 31 o
Stfvom bob, g mmumty)@éaé?ep-,;%é@‘*dﬁné Kgoren 0035 B850 ERSS® (CACP) 9865768

8BS Drgrrd) JodE FdkwEy |
(1) B3wED
@ (A A8 BBow (¢) ABa BBo&r %)  (4)

Z 16

A SRS




50.

51.

52.

A BN
ared to the decada]

when cqu i i TOWth rata

populahon of 11:1 1a during 2001-11 (as :}: ‘::f Population of India during 1991-2001, the decadal growth rate of
Decrease ensus 2011

1 , ):

( Increased by about 10% ) Did not change

1991—2001 & grBERE wvgr cﬁ»g& Sy @) Increased marginally

e G0 578 B B B ) Beust e sipt, 2011 s B o, 2001-11 & 50853

05 10% 2BACK (:/) DB S8y B
)

‘ése)o)oﬁ" 208000

@

As per 2011 population census, whjc |
true? ich of the f0110wing statements related to population of Telangana is/are
it el o e oo
C. InMahabubabad cliSt,rictrél E male population was less than rural male population.

) , urban female " .
Choose the correct answer : population was more than urban male population.

nl g
(1) Bo dYC . @ AandConly
@ Dandiony @ ABandC
2011 &3P B (HSB0, BOOMPE esegrd Q00809 Léo& a‘gaazgeaés DB/ 2By ?

A S 2eps® HHBe aTer o8 Hirte s DEST S8,

& —agég aq‘;és ESERVE aTge Eod (rrabes Sodrde PR e &ob.

C SoiFerred aqo’éﬁ K)éégea DD esegr Kol é%e@ Lo e3egP aésg,ém &00.
435 SEPEERPR) oS Bokodn : I |

(1) BSwED

(3) BB CERSD @ A B8a C

Match the following years with the respective gross area mfzalangana (as per Telangana State At A Glance, 2024):

Year ?r(isiharea so;vn approximately
nila acres =5
A 2019-20 I 185 oo 2"
B.  2020-21 oL 210 %
C.  2021-22 m 222 '
D. 2022-23 V. 198
Choose the correct answer : ‘
(1)  AJILBI,CILDIV @ AIV,BLCILDI
() ALBIL,CIV,D-I @ AL bt .
806 0BT, Boomrns® 8 Qe dI Jpo Sggoés aé&éeﬁaé)a (Boorres ‘ges A5 D ), 2024
(XseB0) : i3
0B850 pisren 88 W70 S350
(ofe Jéred’)
A 2019-20 L 18
B, 2020-21 m. 210
C  2021-22 m 222
D. 202223 v. 198
B8 S Bsoos : oy .
i el @) A-ILB-IV,C-I, DI

)
(3)  A-,BII,C-IV,D-II |
Zl 7]  PTo.



53.

top cont

Which of the following is the vernm

Socio -Economic Outlook 2024, G(? it
(1)  Electric machinery and equip?

(3)  Pharmaceutical products g
Boorre (58080 B0 QeS8 3 %o
o&HEOM IHS8 BoHedS (Hend

() D8 aolgren O &
(@) TR e)en

ing districts i .
As per 2011 population census, match the following districts jn Telangana with population sex ratio of each

modity exported (in v
ent of Telangana ?
@) O.rganic chemicalg
) Alrcraft, Space
p {;})833@0‘2024 @/)S"éo, &o
o) 3% ?
@ _:500@053 (53"053&7::@0
(4) DS, VOBOEI K B grrren

Craftand parts

district: iy N
Name of the District ggg “la‘mf,‘ Sex Ratio

A Jagitial L i

B. Warangal 1L L BE

C Siddipet IIL i

D Vikarabad v. 10

Choose the correct answer :
(1)  A-L B, C-IV,D-II

(@  A-V,BII,CI, DI
@  ALBILCIV,D-i

alue terms) from Telangana in 2023'24/ as Per

© T8 5 sixy% Boorren o8 2023-24 &

(3)  A-ILBIV,CID-I
2011 g B (500, Boorrns™ Bod BTN & argr Sorf 2588 esHE5HED |

2°g® Dol Qi’.g)g

2P D

A ahEge 1 995

B. $%05S - - I 1000

C R)@-gm S _ .- IO 1036 ¢ :%

D. Qscoeers —=.IV. 1008

383 JIrEPTR) dodE Bsokn £ .5

(_17? A-I,B-II, C-IV, D-IT ) A-IV, B-III, C-TI, D-I
@) A-Di, B-I,C-IV,D-II

3)  A-LLBIV,CIDI
55.  Match the following classes of land with the extent of 'sff?a'idard holding as per Telangana Land Reforms (Ceilir

on Agricultural Holdings) Act, 1973 :

Class of Land Extent of Standard Holding (in acres)

A Double crop wet land, class-A - L 35
B. Double crop wet land, class-F IL 10
C. Dryland, class-G m 50

Iv. 18

D.  Dryland, class-]

Choose the correct answer :
(1)  A-LB-II,C-IV,D-II (@  A-ILB-I,CIV,D-I
@)  A-LBIV,CID-II 4  A-IBLCIODIV

8oorre grboBeen (S5 SN SF) KB% 5B&8) S¢g0 1973 (Bse80, (Bod & SBKHOR, (Dosmd

E5080 5057088 2385855 |
(PSrBE Ehdo H0Ermo (Dsoeost)

gD SBHS

A Totd Howen HOT KB g, S8KE-A L 35

B.  Botd Soeen H08 Srmed gfmay, S558-F oL 10

C. g gbe, S8K8-G m 50

D. - &y e, S5K&-] Iv. 18
8BS SR 0HE Bokogs : '

(1)  A-LB-IICIV,D-I (2)  A-I,BI,CIV,DI
()  A-ILBIV,CI DI - (4)  A-IB,CAI DIV

ET Z 18
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58.

59.

ET

W 'hiCh of the fO]lOWing Statemen
T
p Fortheyed 2023-24, the reyige S 2 Per i
of GST. Sed egt; Ao o e Budget Esm.nates 2024-25 of the Telangana state ?
Regarding corporation tay ¢, goods and services tax (GST) is more than the budget estimate
» for

B.
with regard to the ta € yeq
el b tai S— ;(es Onsales, ader 2023-24, the revised estimate is more than the budget estimate.
D. 023-24 Wwas egti ete. for 2023-24, the budget estimate is less than the revised estimate.
poose the correctanswer Stimateq | , :
C 5 and D ofly ess under revised estimate rather than under budget estimate.
@ ban
B,C and D only (2) A,Band D only

G)

B =g 238 ®oSTren 2024-25

A 202324 S0BET°AE Somosos
@OST® FEYIMT God.

B. s°56°)6515 HJYE B0B0GON 202394 «
23-24 %
3 A SoSg 808t oG8 @Ol Lo HH00NS woisTe JEPP Bod.

2023-24 & wdysren, $8% -
’ O (o] T
B\DCSB;@FD&@ S ¥owohod), $5B0DS woSe Eo8 mgéﬁ OB

Samis 4)  AandConly
2 r: » 808 argred® DD ady ?
= V80 Sy G oGS wodT So8 H%y Dise By T $BHBODD

o

Ly Gol.
D 202324 & Swdo 5% ol Brl e
elglelat =S agésef’o‘m" o5 K08 5000 wos (8ol SESP oI Saseoo
53 GEPCERR) D0 Bkoio : e
) e | @) A, B0 DIFED
() B CHOoR DI (@) A% CEPED

Which of the following statements related to per capita income of Telangana is /aretrue?
A The growth rate of per capita income (at current prices) of Telangana in 2005-06 was less than 10%.
B.  The growth rate of per capita income (at current prices) of Telangana in 2009-10 was less than 3%.

Choose the correct answer :
(1)  Bonly (2 BothAandB

(3)  Neither AnorB (4) Aonly
Beorren SO0 emraird8 Sowohod Eobd a‘g%o@" DB/0D adyp ?
A 2005-06 6° Boorre i somdb 3 G (8 o) 10% %08 &S 0.

B, 2009-10 8® Bworre So¥0 ewrdd $)g B0 (%8 BBo6t) 3% ol SN &ob.
$B% BEPGPR) NODY Sasodw :
) B&w@D
3) ABas» BBoKr P @ ASHED

d holding size in Telangana was :

As per the Agriculture Census 2021-22, the average lan
Three hectares (4)  Lessthanone hectare

(1) Onehectare 2) Two hectares: () :
Hg8dad Kead 2021-22 (seB0, Boorrns® S Brs80 HOBPE0 0 &0k ?
@) 0ol LR @) ardTTH @)

tricts in Telangana had relatively higher hu

(2) A%BanB Dok

3 Eo& SEYR
) ok 2rgb 2.8 36 YoB EK
man development index

In 200405, which of the following dis

(HDI) value ? ‘
(1) Nizamabad ) Adilabad (3) Karimnagar (4) Medak .
2004-05 & Boorres™ (808 gepos® O 8% G08), S0 0B %08 (HDI) Dend Fhggore X
éod ?
(1)  Depswens 2) sbePerd (3) 8boxnd 4) &S

@ 19 P.T.0.
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62.

ET

Which of the following state clusters were a ppmw]‘;l by the Tela nga'na government to support its weavers ?
A.  Theratpally B Pochampally C Ghatuppal

Choose the correct answer :
()  AandBonly

(3) Band Conly A )
Boorrs (ehiso 85 38 sget> Si%avo T8 BB oG Sisunegs 4y, clusters)

2) A and ('only
4 A, BandC

362 83roDos 9

A BBESHY B. S0 C o Gongs
8BS SSrGraeQ) DodE Faswsn :

() ASBci B SmEdh (D A8 CsmisS,

@)  Bobdas» Cimsd @ A BSdawmC

Which of the following was/ were launched in 2015 by the Government of Telangana in relation to Information
Technology (IT) sector ?

A Technology Hub (T-Hub) B. " Telangana Academy for Skill and Knowledge (T ASK)
(& Telangana Innovation Cell (TGIC)
Choose the correct answer :

(1) BandConly 2 AandB only

3) Aonly 4 ABandC

RIPIRE FOBBE BorrRE $ow0dod Beoree (HEHE0 2015 6 [Bop e BA/38D (FooRos ?
A B=od &8 (T-Hub) B. —-Bworre Sadeag SrBcso 2 @526 (TASK)

C  Boores $580)8 S (TGIC)
[P DEreeaeR) DodE Sasosm e
(1) Bdck C s 2  ADBSHBErSDH
B) AseEH @ ABSBaAC

As per 2011 population census, which of the followir_iigéi:atements related to literacy rates in Telangana are
true? L '

A.  The total literacy rate was around 67%.
B. The total literacy rate in rural areas was around 57%.

C. The total literacy rate in urban areas was around 77%.

D.  Inurbanareas, the literacy rate among male was around 87%.

Choose the correct answer : :

(1) Band Conly 2 A,BandC only (3) A,BandDonly (4) AandD only
2011 esxegr B (H5°50, Berorresdty OFOES $S0w0gods (808 Txwges® DD agdy ?

A Sn¥o OFTRRSE Tew BSem 67% m dos,
B (e Frosod® Eno eXoriee Sbo et 57% m aob.
G Bge Erosod® Bndo emuEe Bt wsmre 77% e ob.
D d4m (@omredt Hbsest OFTE° Bew Kosmdore 87% e &od.
B8 SErorRY) dovE Batwsn :
(1) BoBoty Csomiesdy @ A BSOS C SweEd
& A BSOS D S, 4) A0 DSl
S S

Z 20
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-onsider the following Statements
Ai%

Telangal? : : Ith re

The scheme applies t 8ard ¢, . :
I[;' The scheme applies tg :llllorhterm n Be CrapiloenINENEr G emelT0 2 of e Bovestigbete

: bihnks. . SRS loang oaiqium‘term crop loans.

oose the correct answer : ned from district i
(Cl? B SaauE istrict cooperative banks, rural banks and scheduled
A only
@ 2 B
L S 4 onl

goorrs (BEOER oL e Sy g W) Both A and B
A 25 5eO8 DB ogissenx Soey ;024’ © Sowogod [Bod Tl HBKHBoKHD :

1

—~

A A byl
g JPSPE 50D, (el OB &% B H6%00.

“ £ g

$85008. SO%e Krp

Qe 50 e 0w o8 B & H%8
A 500050 BTotr =05 .
A (&5 (2) B

)
3)

—~

(). 'A oBoi» BBoKr

Which one of the following statem, £ o=y
ents on ‘ i
on‘GruhaJyothi’ scheme of Telangana government is correct ?

1
2
)
@)

Iftizlljz;:(())l?snjgfi?w inlCOme 8roups by providing electricity
Ing electrici :
In the Telangana Budget 202c;_t}27;e:;;‘ha“ 150 units per month will be benefited under the scheme.
It has been implemented from A},)ril 18;’(‘)’;;nnmnt proposed about Rs. 2,500 crore for the scheme.

Boorre (H8H&0 B ) &8 S8 Komohodis Bod gmgos® OB wdy ?

@)
@
§)
(4)

Which of the following statements is incorrect withregard to T
Ltd. (TGHC) ?

()
2)
3)
@

Boorre J0Ery STOE PETFY S°

@
@)
®)
4)

2@251;6530@2;:;{5&;0 g‘iﬁm BTNTPAD ISP (HReedo gdoswo & BFEo éééo.

© &) o8 &K Deig&o EJ‘*aéae.;)oaJnep (households) & 80 B0 (HReesb0 DPOLDTAD-
Boorre B 2024-25 6 & SESIB S 2,500 8 Eraraber BHBFROTL.

8 DR 2024, DQS 15 8BS F00l esHen BBHETHL:

It identifies and develops potential growth centres in Telangana fully equipped.

It provides social and other infrastructure.

It does not use Public Private Participation (PPP) mode.

It provides infrastructure through development of industrial areas in Telangana.

6&)’33’15 DBED HowoGoDS Bob 53°§sp§e>e36 26 Sy ?

$p0 Pond® BB Boerds e Boorns®d Hawes HBod 8k ©ARY J08.
=" & o

90 &Ry S0k 880 SFOE PETFOD E0y00.

VA & 4 & 6:)&'?&0’55(‘.3).

($58He—{F o gy HEBI B )

Beormed® 0(E°as (BB EADNA Sahowro T ab SFO8 oo SON0B.

icators in Telangana in 2022 is/ are true ?

ind
Whi : s related to healthun
N ich [(J)f the following Statte:Z::per Sample Registration System -2020) was around 238.
B 7 }I:der 5 mto:ltalllt}’t;j‘i by rate Was around 15 (as per Sample Registration System-2020).
: e neonatal mor
ﬁ})loosele3 thsl correct answelf(:2 | BothAan 4B (@) Neither A( nor B (4 Aonly
i only ) ot 500 0800 BB avéaaéoéa DB/ wlyp ?
orredt 2022 &° 6B O oiS OB[HES BS-2020 SEe50) oSt 28T GO -

A
B

R trorety 2008 B o protr O

(1)

ni! ( :
& Yod&oPe &8y HoTeTO i;; 8 é@ég g,ésa-zozo (Hs°80) Bodedo 15 ™ &od.

SSens 8% Sotsee B8 (F°C
A5poinBOOls S (4 ADEED

B &om gD 2 @ _
El

elangana Industrial Infrastructure Corporation

P.T.
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ET

f Telangana was around :

2 Jation O

As per 20;1 census, the SLZ(Z)Of p(;}z(l) irore g’){m 61:’-70 crore (€)) 3.30 crore
(1) 3.50 crore oo $HBHTEI0 0 mw :

Hoeto, BeOTE &
2011 aweg’ ;:‘;2;@ @ o 405 @) 370 sfey @ 3.308%y
@ 83 ; ] s in ascending order based on the growth rate of gross state domestic product (GSDp)
Arrange the following yea tant 2004-05 prices :
of Telangana (;161 these Yeﬂl';, at Cozlz)s()g o7 C* 2007 - 08 D. 2008 -09
A. 2005 - :
Choose ﬂ;;e lcjor‘;ect answer(iz) ‘B, A, C, D (3) D/ C/ A, B (4) A/ B; Dl C
@ G&BD &8 2004-05 BB §80E®, Boorre Spo ooy BEIrE)B $HB Bew erdore

(Bobd SodEHTredd, walr Jod&ore

is‘gm;ofséj %fs @&&‘)&;: 2006 - 07 C. 2007-08 D. 2008 -09
$BD BEPEETRY) DoDE DI ©

) 3 . ABDC
1) GCBDA @ BACD @ D,CAB @), A

Which of the following statements is/are true in relation to human development index (HDI) rank and huma

development index value of Telangana ? i
A In 2004-05, the HDI value of Telangana was less than 0.40.

B. In 2011-12, the HDI value of Telangana was more than 0.50.

C.  In2004-05, the HDI rank of Telangana was 8 among the major states of India.

Choose the correct answer : £ 33
~3). Conly (4) BandConly

(1) AandBonly (2 AandConly
Boorrn @wE) S @B Srds g8 5000 TPID ©hHB DY DenHh $owoGoDT (Bod 5!

D8/29 ey ?
A 2004-05 & Beorre Bog) S50 0B JrHE -Deod 0.40 Sod] SEYS™ God.
2011-12 6° Boorre G $rss @K SredE Dend 0.50 L& LS @od.

2004-05 &° Beorre @ws) S0 SIARNA K°08 0208 gr88aEos B w@oéﬁ 8 &ob.

B.
C
8BS J&eerard) dodE Bosokm : ;
(1) ASB05 BSrE$D () ~A%BSH CSrE$D

3 Cargd 4) BB CSr@D

Consider the following regarding Telangana Land Reforms (Ceiling on Agricultural Holdings) Act, 1973

Assertion A : This Act received the assent of President of India in 1974.
According to this Act, the maximum extent of standard holding was fixed at 27 acres

Lanka lands.
Choose the correct answer :
(1)  Aistrueand Ris true. ButR is not the correctexplanation for A.
2  AistruebutRis false. —
(3)  AdisfalsebutRis true. g
(4) Aistrueand Ristrue. R is the correct explanation for A.
8oorre rSosne (Eadh dharep B3 H6218) 540 1973 & Kow0§od Bod B HBKBoHZD
BBPES A : & S0 19746 ¢r08 Toga Gt @FRE0 B0t ABACE.
SmoR: & S0 (5750, 008 ¢irdne Sonofol [Brirdy Shio HOL B0 27 Ioeeorr Agowo
e3dhod.
BBS JErEraeR) dodE Soswsy | ,
(0 Aedp 5605 Re.sp. A% RSB S0 596
2  Aadp=dR EXy.
B) AsSp=AR &Y.
@  Azdp So8asw R @3p. AS REBS so8es0.

ReasonR:
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72.

Ey

) Theschemewas “NMVisageg Nar

y It also provides driny. to . AYanpag .
2 Pl‘ovlde .~ 'Pet-Kodangal Lift Irrigation Scheme is NOT correct?
ct?

. 024, th : ater ; irriggy: _
©) In2 e foundatmn < ter 8ation water in Makthal assembly segment

to ara
“4) The scheme was envis, :;e for the ki Yanpet anq Kodangal segments.
Provig.. . ™Mewas laid in February.

S$.85—

=SS iOéOKé 2Ese, Betsox. . Mgation )
(1) é)éeg @c\)Oé Q@;oaé 56065 Q 605050& WatermNarayanpet and Kodangalassemblyconstituencies,
o) TTEEEDS, Stons . 10Ny o 808 gmgs® D8 1386 g 2

2024 = S50 » ‘oﬁéoéé,@s & « °§°§50(ﬁ>é> & éé?@& @@‘O&Oﬁ"d}.
& e3¢5 - PRIp e % S THABY Erme woBoTd.

TPoPCes G 1
) 29, SEORS w308 g o™ 8BA0E,

: : - =5 =3

Which of the following staten, S B89 woboBott & HESY ErBrobomets.

. enm ar =
prices of Telangana at 2011.1, - © true in pop
Onstant Prices » L’{tum to gross state value added (GSVA) growth rate at basic

A In2022-23 (first revised eqy; SESEL
B. In 2023-24 (advance estima Es)te:})\, Seconqa%ector registered negative growth rate.

C. In 2022-23 (first reviseqd estimates) tgem_wﬁ‘Me of primary sector was less than 1%.
 tertiary sector registered around 9 percent growth rate.

D. In 2023-24 (advance estj
Mates), tertiary
Choose the correct answer - ; Sector registered double digit growth rate.

(1) Band Conly 2 AB

2011-12 28 &6e a’)g, 800 @k S Only (3 AandDonly (4 CandDonly

Foaed® O widy ? G $GS Good® Ape Tog Devdd 80P (GSVA) %8 Bend How0dodS |B8od

A 202223 (Fo8 BEBOLS wodimes) 6 abch Soro sumegs $59 $art Shod.

& 2023-24 (83008 eoiimsen) of (EDE Soro $8 Bew 1% K08 SEHSre aod.

C ;2_3022('323 (B0t58 SHGODS woSaren) & v’.’%)ﬁdfo Boffo (tertiary sector) Koo 9% )8 By S
rfelal

2023-24 (008 wodaren) €° &8cb KoKo (tertiary sector) Bo&o8e %)g Beodo $3et%0 Dok,

D.

5B SEeEPIPR) DodE Sahos :

1) BB C S(&sd (2) A, BB CSmEdD
@) CoBdsw DSmED

)
3) A8 D SrESD
energy in ascending order based on percentage of installed capacity of

o " r / ble
Arrange the following types hener talled capacity in Telangana as of 30-06-2024 (as per Telangana Socio

each type in total renewable energy ns

Economic Outlook, 2024):
B. Solar energy
A Smallhydro power D.  Biopower
C  Wind energy .
Choose the correct answer 3) C,BDA 4 ABCD
2 Al Cl BI D ( ) A 2, % é
() ACD,B 2 s S sous b B (Bod (35 HIEYIE 8o D 8§ T
30-06-2024 &8 aeomg"é%@é X0 (8OO FirR% 6ls Snpdio, 2024 Hs°60) :
S0 B eftsee (X0 26 48
B. =
A OR) e @«‘66}8:)555 880 D, e@rs0E0
L 885 duys
(3) C, B, D, A (4) Al B/ Cr D

AWML o "\ (ﬁ: :
NB" qu"@-T«"'g ‘DObé 3 C, B,D

: - 2) J
H ACDB ( @ 23

P.T.(
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Eld(l tht ' ’”() n ) » basis i (’l)uldtion Qn_qug .
i g asis 20' l p ( S -
i on th( [ﬁ. 1¢ ()( il
‘ ( ""II{I > i n “y ()f} ()} ulﬂti()“ m l( ]ﬂn )ana waz .
e dens ) ) ) i

AsserthI:l A: Mulugu district has the lowest density of Population among all the districts in Telangana_
ReasonR: u ‘

Choose the correct answer : . = "

(1)  Adistrue and R is true. But R is not the correctexplanation for A.

2 A is true but R is false.

3) A is false but R is true. _
(4)  Aistrue and Ris true. R is the correct explanation for A

2011 835vgr BKo (HS0B0, (Bod B HOKBODHIW :

BEIPES A : Boormres® essdoss Hartd $08e Kol DEPST @08,
o R:  Boorne® o) derod®d dnend 2 asdrogs BESM™ ¢08.

JBS JSrEEeQ) DoE Sctodo

1) Aafy So0aw R a3y, A& REBS 5786690 50,
@ A=gy s RSy

G) A8 s Rady.

4  Aalyp Sodao R &y, A RIBS sedeso.

districts in Telangana state as the :
(1) Most hungry districts

(3)  Mostindustrialised districts 4 Most developed districts

TEIBY (Serle Soo #3125 Hossy, Herdee HBS® Boomn st StrrSSHE S60ks Py
BLOD 25D $5880D08 ? ity

@ e 508 &) Bepen @ o oo sons Bepen

B)  errre o (Erissen 8oAS Bepen @ oo ©HB BodS Bepen

Which of the following statements related to agricultural holdings in Telangana is/are true ?
A In 2010-11, in Adilabad district, small agricultural holdings accounted for more than 1/4 of the total

agricultural holdings.

B, In2010-11, in Medak district, large agricultural holdmgs accounted for less than 1% of tota] agricultural
holdings. £ :

Choose the correct answer - £

(1)  Bonly (2 BothAandB

()  Neither A nor B (4) Aonly

G008,
NB BSTERTR) D02 Botoin :
(D) Bsmgd @&  A$0080 BBotw
®) A8 BBoxm S @ ASoED

Z 24
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78.

79.

80.

R 50 Wl S

% ate
(advance estimates) at 2011_{;?1& i/ are
rimary sector Onst, Tue j .
o o has Contrip ant Priceg ?ln relation to the sectoral contribution in Telangana in 2023-24

Agriculture, livesto, Uted |
B (GSVA). e, foresyyy, °than 5 f o -
Y anq fish; of gross state value added (GSVA).
Choose thI:el correct answer - g have contributed more than 1 /4 of gross state value added
@ Bory )
011-12 28 $808° 0Bk
2 @ & D8/ » Qo 8 wog (3)  Neither A nor B 4)  Aonl
Léob EVACIS /DD &QQ; D) = oey (S only
: 8o 2023-24 ¢ Beorrnd® Sorre 6”%@& 50006003

A KD‘(;O U“é NN :)3&0?@@‘3 2
B. ééo“aa*’oﬁ:o, 5% BB, Q_DL B Soso

2Ot Aang

1/5 %08 S5 SrmenSotonot.

09 oy
SIS
© Bk Bpe BoBBo Spo oog Denss HboHe® 1/4 508 555

&rmenSodomron,
$8% DIPTETERY DoDE Vaswgy -

() BERED @  Ase
O BBogye @) A Bon BBokr v (4)  ASPSDH

As per 2011 population censyg
) . , amo
(06 yeass) poipnlafionwas relatively ml(;fet’}m fOllowing four districts in Telangana, in which district, child

;10)11 S;’ngag;ddyL e} = *Eifonds @)  Siddipet (4) Kamareddy

2Ty BE (D80, Boorrests

g FOFEOT JENST o8 ? e WPAEreord Sepod’, D aepe’ hgo (06 oS S
1) oo @ s

SRRt (4 =5r0&

As per 2011 populati g L

Is; ;)re true ?p o on census, which of the fouOWm:;gs’taftements related to working population in Telangana
A. Wor.king population in Telangana was less than"50 % of total population of Telangana.

B.  Agricultural labourers constitute around 21% of-total population of Telangana.

Choose the correct answer :
(1) Bonly (20 BothAandB (3) ~ Neither AnorB .
2011 e3gr B (HsPL0, Boorrend® H T SESIESERENGRES $02050DS ol a°§a3§e>e3€’ DBO/AD iy ?
A Beorre 380 axers® H Fd arcge 50% S0l SESMT Gob.
B.  Beorren Sndo ameerd? Hidrad soen Koo 21% 1 &I,
393 $EPEETRQ) DodE Bokosw :
(1) BSeED 2 A SoBcsoBBoE® (3)  ASodcin BOoE® TH @) ASED

. . -thir&,t“é_ ﬂle service sector’s gross state value added (GSVA) in
Wh - has contributed more than one-third to
202,’11_’C-}2l3S ?I? Riie)citr? rl"eil:nz‘;ana, as per Socio-Economic O“_t_1°°k 2024, Government of Telangana ?
@ T t storage communication and services related to broadcasting

RANSPONG S 8¢ : Jling and professi‘ohal services

2)  Real estate, ownership of dwelling

(3)  Financial services
ants

(4)  Trade, repair, hotels and restaur

G
S e imas o8 S50 b e

@) Aonly

2022-23 (oo $¥B0DS wosTen) & Booren ET)

2024 HS°60, :
y Ko @), & Borio 1/33 0508 YD BErBY00 ?

s o P b

V& BoK Spo oog Deod 20BOD oo (HFS $0@0% VI
1)  Sswem, dex, éwgsg)'ésﬁs 5(33605)3 L\ BHEDN P

Q) 3o, Qe SR RS

() g dsen oo DYVOR

» o)
@ 5850, Sospsen, Fof) P 4
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81.

82.

83.

ET

X

, s licy decisions wag t . he G
Which of the following industry relate d po not taken in 2014 by the Overnmen 0
r ‘,\ p e i ? .
I.( ldnr',l?lxllr‘ ngana State Industrial _ neur Advancement (T-IDEA) Incentive scheme
8 T( ld Z“‘:‘ ;*fﬂt'(‘ Programme for Rapid Inct bation of Dalit Entrepreneurs (T-PRIDE) Incentive schemg

elangana ¢ ré
(3)  Women Entrepreneurs (WE) Hub State of Telatigans
(4)  New Industrial I‘oli(yl"rmm‘wnrk for! ; o G)ég a o ——
. 8 Hoo S % »
Boorres ({gHE0 2014 &5 & (Bod O OB 3 66@"\" mC\)J"le & cSoJ
() Booree oo F0E wfi)f H0d SEIES HEHS (TIDEA) @bamzes 56550
2 A 14 T , Sl L

(@) 508 aughmtom S8 Sa T BUOPR Oog (Sabdy (I-PRIDE) @amses Hiiko
@) Sodere adgomrte Solgo
(4)  Boorres TIPS Kl FOENE VO

Development and Entrepre

Match the following corporations established by the Telangana government with respective weaker sectiong.
Name of the Corporation We.aker' Section

A, Santh Seva Lal Corporation I , Adivasis

B. Komaram Bheem Corporation II. - Erukala

.  Lambadas

Choose the correct answer

(1) ATIBI @ AILBI @) AIOBI @ ALBIO
Boorres (S80S0 Doyt BN 8od ST T wvdes Sros® asssHsw
=5h84S B podmS $o

A %08 Jzrers sBHBGS L ge;&@é%e»
B. £35S % 64858

ST SSrgrarR) 028 Fokosn : ’
(1)  AILBI @ AILBI

@ AJLBII

Consider the following statements relatin
(HYDRAA/HYDRA) agency : .
A TheTelangana government has established an integrated unit for disaster management.

B. Siddipet, Sanga Reddy, Ranga Reddy and Mgfi@hal—Malkajgiri districts and Greater Hyderabad Muni
Corporation area come under this unit. =

C HYDRA will have Separate units for asset protection and disaster management.
Choose the correct answer :

(1) AandC only )
(3 BandC only 4)

g to Hydéia:b d Disaster Response and Assets Monitoring and Prote

A and B only
A,BandC

TIPEOR HOKBOYW

A DB e §6 Beormrg (eH

B RGD6, $orsg, sonos souk 5
SRS DB Sea,

C  edhe B SoBakn DK

N8 MSrGrr) DobE Fotnsn -

0] A 98050 C om(535

() BB Catmgsd

o &8 S8 RS dore Bnos,
RO-HoEG Bepen 0 B Irswers SRS 8B

30t Ticeet 88 aSoeDeSen AT

2 ALB B w @S
4 A B%B®C

Z| | 26
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84.

85.

86.

srange the following crops in agce
(Provisional) :
A Red gram in vanakalam

C Jowar in yasangi
Choose the correct answer :

- 2: ’(Z':e:';é) & @oo(rzvz @ﬁB,A,C’D @) A,E,D,C @ DCBA
o° SPO0 25
Moo . B. o srood SEEY

Seon speost &
C $0oR P08 &%) D, cimoh seood® 33K (bengal gram)
483 SEPTTRY DoE Jososm

.D,A,B '
®» C (@ BACD @) ABDC 4 D,CBA

nding order pased on area under each crop in Telangana in 2023-24

B, Maize in vanakalam
D.  Bengal gram in yasangi

Which of the following statements is/ are true in relation to oil palm cultivation in Telangana ?

A Withthe goal of diversifying crops and i o s t is ambitious!
promoting oil palm cultivationpin the ;I:;}t); .ovmg S e - ’

B.  The target for 2024-25 includes covering 2 lakh acres under oil palm cultivation.
C Action plan for 2024-25 to 2028-29 aims to cover 3.5 lakh acres under oil palm cultivation.
Choose the correct answer :

() Bonly @ Aonly

(3) AandC only (4) A/ B and C

Boorrnd® FsranS (oil palm) % $owogods Bob Tpsed S8/ wdp ?

A Bobe FHE BITNR) GOS0 TNDr AEREHETe STRRR) BEIHSES oFg08°, Boorrn B
BBPFEor grD0D Boorrns® ond &S AFIHD 8 2500. _

B 2024-25&8 Do ofp SETOH oS 355 i (Bob8 Sxudoeared [HEdEo OFfor eptood.
2024-25 5008 202829 8 HomOROND STNSGes (e 3.5 OFY e sows FH Frd (Bod!
Srosoearod edchorr ERHOoR. ;

8BS BSeGEIR oD Bosokw ¢ ;

1) B ?) ASEED

@) A C IS 4 A BBC

As per the Census of Land Holdings, 2021-22, which of the following statements related to land holdings
Telangana is/are true (As per Telangana State At A Glance, 2024) ?
A InTelangana, the marginal holdings account for more than 2/3 of total land holdings.

B. Large holdings account for 1/10 of total land holdings in Telangana.

Choose the correct answer :
()  Bonly ) BothA and B (3)  Neither AnorB @ Aonly

BES5RPCD Keod (GrESomee BEED) 202122 (FE°50 BOOTPHE® GIRERERS SoopoDd Bod TgwEY & 56
2y Boorrsn P A6 ey, 2024 (BHse80) ?

A Boorrss® wdo sirsEres® arod ST 2/3 %08 IS daoD.

B. Beorrnd®d Imwdo srsSEos” DY (large) 3zen 1/10 7 &I)00.

8BS SEreraed) oD Scsodm
1) BirsdH @) A SB35 BBo&» (3) A Sodosw BBo&r 2 (4) ASTED

Z | (27 =




87.

88.

89.

90.

ET

tsis /are correct W ith regard to Information Technology (IT) exports in 2022-23.
Which of the following statemen O fTelangana >
as per Socio Economic Outlook 2024, GOV 11.44%

. . arl
A.  Telangana's IT exports grew by ne 3’\/ by bout 22.36%,

B, India’sIT exports, onanaverage gre
Choose thelcorrect answer : ) Both A and B
(1) Bonly 4) Aonly
(3  Neither AnorB ¢ 5opdlEo Zozil)g;sucso, 202223 6 Himirt PoEBE HroHHEWE VOGO
Beorre (Hgody Pres ©f a0
8 oSt DO/MNY adyp ?
Bon amyw0S” 2009 87 Kootors S 31.44% BOTPOD.

A @vorre o) SErerS PoEBE
B SRS St PoEBE B S0 0t ki oot 22.36% PO

585 SBPEERERY DoBE Bk : , _
1 B &3 @ A 8350 BBokr

@) AHDcn BBk S°) @ A Kol e85
(GSVA) at basic prices of Telangana in 2023-24 (in constant 2011-12

12% @ 8%

The growth rate of gross state value added
prices and advance estimates) was around :

1) 5% @ 7% [©) 9 O ot S
Soorredt 202324 & g oot Spo TF DD HB0D $)g Be (20111238 &0 o)
©0SPeD) KXo : )
1) 5% @ 7% A3)~ 12% @y 8%

Which of the following statements are true in relation’to the shares of allied sectors in agricultural gross state
domestic product of Telangana in 2013-14 at 2004-05 constant prices ?

A The share of crop husbandry sector was more-than 50%.

B.  The share of livestock was less than 25%. g
C The share of fisheries was around 10%.

Choose the correct answer : _
(1) Bonly (2 Aonly (3)- Band Conly @ ABandC

201314 % S05%)B0S® Boorre T SHFAD &;00@ B8cr$)86° (2004-05 38 §B0S°) H5Sarad @y
Sorre EFed H000d0d Bob Txas® OO wly 7

A Hobe 2OHE BoKo aeer 50% S08 LN sob.

B. % $056 (livestock) e 25% S0l SE)S &od.

C. g 3008 (fisheries) e Lo 10% e &od.

8BS BEPGRar) oL Bainim : "

(1) BSPED @ ASPED (3) BB CEmrl@D & A BB C

AInge the fouowmg age groups of population OéﬁTéléngana in ascending order based on population size of
each age group in 2011 as per the data provided in Telangana Statistical Abstract-2022: ’

s, e B.  10-T4years C. . 15-19years D
- . 20 -
Choose the correct answer : ; g y 24 years
(1) n, C/ D, B (2) A, D/ B, ( A (3) D, B, A, C (4) B, C, D, A

%e;ogz) Jﬁg&é})éé 595@35—2022@6 Al 58030 (PS50, (B0 TPEP SADRY) BuriSte, 201168 Boorsd
& %) Samstro @) a3veer $0Ere0 errdorr, w8 (B0 @)K :

A 5-9%0%8er B, 10- 145058000 |
—— : ' o) C_  15-19 %058 yoren D. 4%
RBS SEreraed) oy Basnin : ' . Sl -chhi e

(1) ACD,B N A
s IDI ’ .
@ B,C 3) D,B,A,C @ BCDA

Z 28




nge the following inagcey 5.
51 Aled (GSVA) at current Prices 1292 on
a In 2023 © basis of their contribution to industry sector’s gross state value ’

4, Government of Telangan . -24
ioz s ruction = advahce estimates) of Telangana, as per Socio Economic Outlook
el Manufacturing B, Electricity and utilities
Choose the correct answer : D. Mining and quarrying
LA, C, D
@ P @ Cppy
G DABC (4 BDAC

goorres (HE0EI0 T Jemgy ©BK
. - B! B8
g08® SO TG DB HBoHEE Bog 6“@0-2024 (S50, 2023-24 &° Boorres FoiEInE Goo o), D
Qe 5‘5:::;)@;; sgrdore, 8 Sorred etfivg (Eiodh 2955067)550.

A Qo Boffo
c  doib Boifo B Dy sobcsm esd@rmren
555 BEFPTR 0B Beksngos ; D Koo o050 Sgseen
@ BACD @ CD,BA
@) DABC (4. B,D,AC

1) To suggest methods to allocate more fund;
ik P
2)  Toestimate the fiscal deficit of Telangana Yl e i gane

@)  To calculate the surplus funds of Telangana
(4)  Tosuggestmodalities for transfer of resources from central government to Telangana

goormet $0w0B0D 2]E erES SED 1969 6F & adio 0 DO ?

(1) Boorrnd®d BEES Seroh S Jhe ée;ofmo:g)éa ©IIOOBHORTS Do SrDoBErIE
Q) Boorrn @) (BB %% woste ScHiras

@) Boorre GE) Miden AHed B8BTS T
4 So& (9ghet0 Soo& Beoorred $Sthe aé@wo@éi?;%t{agéo&é Bt BrDoBerd8

wSoeots 93 Which of the following statements is/ are correct on 1rr1gat10p1n Telangana as per the Budget Estimates 2024-25

of Government of Telangana ? :
A Majorirrigation was allocated more funds under revised estimate for 2023-24 than the budget estimate for
2024-25.
B. In 2023-24, minor irrigation was allocated more funds than major irrigation under revised estimates.
Choose the correct answer :
() BothAandB ( Bonly
- 3) Aonly (@)  Neither AnorB
size of’ Boorme (56 50 o) 2024-25 &GS ©OSTO (SseB0, HB P HB02050dN (Bod a‘ga:?goé‘s RO By ?
¥ a3
1 A 202324 % 556005 osTOS 2024-25 0G5 @OBT %ol A& grd B P Seranoiito
%* monot. ¥o8 DB e ApoH S 4
B 200394t B5BOOS GOSTO B, b D oS Ko JEpSTe DY IO FBotso ook BErowosero
e’ | 20A0B.
9B Bsirgrang) Q0B Bk - | paneS
2
M A ( -
& A &62 BBo&r @) A $:805 BBo&r 508
S8

" [Zl 29 P.T.C




9.

95.

96.

ET

b4 i' Y -ﬂ(\ yOries l g()] y m ele aIlgaIla S e blld
e 1o ()“V“lb LX]JL“( 1ture Ce 1) get

for the financial year 2024-25 : Budget Proposed
Expenditure Category I Rs. 2.91 lakh crore
A, Capital expenditure 1 Rs. 2.21 lakh crore
B. Revenue expenditure m Rs. 1.31 lakh crore
@ Total GXPPI\diﬁll'ﬁ‘ ]V Rs. 0.33 lakh crore

er y = CI
Choose the correct answer : 1 (3) AL B-IL,C-I 4 ALV, B,
! - B'I/( ]I 4
i g, oG K508 BB BB HBFEOS $008 BBTES .
2024-25 Q8 Jod&B0 ) $6FB00S »3 &

A ?ﬁ;ﬁ;; Zzoﬁo 291 oo 8% srdrahen
B.  O3oog $50%00 2.21 oo 8% Srdrahen
C  Swdo Sgaho 131080 8% raeahen

B 0.33 o8o 8% Erdrahen

TR VeGP JoDE Bakoko : E 2|
0 AIBLCN @ ANVBLCI @, ALBILCI @ AL, B“H’C?
Which of the following are the educational schemes introduced by the Government of Telangana ?

A.  Amma Adarsha Patashala (AAP)

B. Prof. Jayashankar Badi Bata

C Society for Telangana Network (SOFTNET)

D.  Advance Technology Centres (ATCs)

Choose the correct answer :

(1) A,B,CandD (2 BandDonly
() AandConly 4 A ,BandConly

808 BS* 5 Beorres (©4bs50 @3%3)63?6 3),13"?3-5368"&» 7

2EE"

A oX) ey e b
B. (%6 2003086 @& eré '
C &8 35 Boorre 36556 (SOFTNET)
D Jo%g) Bsped o) (ATCs)

B DErTETR JobE Fokodn ¢

(1) A,B,C0c5%0D ). = B5o0asn D S

B) Abas»C g @~ A, Bo0cso C (g

Which of the following areas in Telangana are i:d lsi_tified for eco-tourism in the Telangana Budget 2024-25?
A. Amrabad tiger reserve B. Bogatha waterfalls C. Kanakagiriin Karimnagar
D.  Kinnerasani in Kothagudem E. Kuntala waterfalls

Choose the correct answer :

(1) A,B,DandE only (2 B,CandE only

() A,CandDonly 4 A DandEonly

Boorredd (Bod & $Bees Bvomrs 2GS 2024-25 & Hoeg58es Jog0E (DR BPeT B0 ?

A elrerd 85 oy B &°K8 sodreren C. 80031665 gs5ns

D. ®& éfﬁ"aO@e D é?@\éa‘f\) E. §)o¢jn@ 2BOTO

8BS BSrErQ) 2028 Fcsody |

(1, A B, D&bos» Esm($ah () _ B,Cabaw Esmgdh

(3) A CHB00 D sm(g (4~ A, D205 E Sl

As per 2011 population census among the following four districts i
: ' ) istricts in Tel,
of urban population to its tota] population was_'reI_a»gtively less ? -

(1)  Rajanna Sircilla 2 Mahabubnag;a_r =~ (3)  Karimnagar 4)  Mancherial

2011 esxogpe Bégp ($dse80 8ot ageed ER
’ WR6R BOOMHE*D menth Berod® O et S0
BTG TS0 FHgSorr S sod ? » ™ %0 © B Ivgo amgrs® By

(D) oy 2owe @) eSS (3)  sBoxks

gana, in which district, the percentage

(4) aéaoi'.)mego

Z 30




9.

. During 2014-15 to 2023-24, the debt service burden of Te

+ Which of the following statements are true

: following state:

which of the HO ements
Other eligible bt?neflclaries Ibe Mma Indlu (housing) scheme of Telangana governmentis correct?

peseholsErllbeng 400 sq £t Provlded Rs. 4.20 lakhs for the construction of houses.

The gove‘rnment PrOposes tq Cog‘:t:.th Rcc roofing, kitchen and toilet.

Under thl_s scheme, financia] assist; uct a total of 8,000 houses in each constituency by March 31, 2026.

construction of houses, ance of R, 5 Jakhs will be provided to the SC and ST beneficiaries for the

rree (0S50 T0E) [oHS
ze))o Slets é@i:é aéé@@m?igoi g’f@?ooﬁ) HETIB Howohodd Bob irmsed® 56 wdy ?
@ B2 PEJY (roof) & Kok, K&M é:;“&%o 5% 4.20 oo EraraHe B0H0HEH0 BbbE0k.
@y 20265°Q) 3108 (58 DGy g);&) SorOERES ErBS & B 400 S6D wtiorben GoLron.
8oS® Jmeso 8,000 mify VBT OV [HEHS; (HBIFLL.

4 ‘aaﬁréé Ereren 08a%n 3
& @o&o?ﬁeao 23008, RS Bife orhol ay Joywo B 5 ofp Erapcin 85 55Hch0

about 1y, dira,

s>

which of the following are cor :
Telangana ? § rect with regard to the skill university being established by the Government of

A It is named as ‘“Telangana Skill Universi 7.
s . v 1 fo E 3 r‘
B. Itis established in Mahabubnagar districtyt_ Epaieice

C Itis decided to offer certificate, diploma and degree courses.

Choose the correct answer :

(1) AandBonly @ Cony

3) BandC only @ A BandC

Boorres (H8hE0 Do VKK Fdesg DEDTHOARDS HowosoD Bod T & 59 5359 ?
A 08 Boores S cSrISEB H8 BTy € TrEuEsno TR,

B 00 foirardnb gedt Do T, -

©d ég%;'s‘és', &rdm Sodasw &R §56:33e>26> e—oo&oéeé :)goaaow&.

C
403 $ETEParR) Do By :

1) ASoBcS BEw@d @)
(3) BoBH CSmED @)

‘1a;;gana state (within budget) has grown at an annual

average rate of about:

1 16% @ 19% (3) ~=22% @ 12%
2014-15 Sr08 2023-24 Sotigeee0d® Boorre T w06 S groo (@3S o) ) JoSFBE Bk 2EHSE
B Kodmdore : , . 0 o
1) 16% 2 19% @ 22% @ 12%

in relation to the control of environmental pollution?

A, Byenactingand implementing laws, government can directly protect the environment.

B By using Safe Maximum gtandards, critical natural resources are protectsd fromexinchan,
Cho : o
i Os% t(l)\jl correct answer : 2) AandBboth

y 4 Aonly

) i 2
Neither A nor B 9 (800 aaé%oef 0 ady ?

Iy Sengio Dol o000 3 ) |

A s O:ESO ;;);mo LB @I 555620 TROe HTTRBETRY (HSFEOT™ HOBEOBIN). |

B K)Jééé;s ?ﬁa wfe;o o3 D58 @m0 SoBE Ve Sthen ©OBBON DHOTe SErED0 atrhE0L
: & o3 (oeearen 8

BRSSO e&)o%)é Bsodm : :

M) Bg,;n@ggjl 2 A?fj; BBor

G A%Bam BBokr =29 @ A ¢

z 31 P.T.



102.

103.

104.

105.

ET

g . b
> concept of economic growth is /are true ?
. s bato nts related to th( ; ‘ / .
Which of the follgwllI‘g ftét‘c}]l]\clr\oss domestic product (GDP) indicates economic growth
A, Year toyear increase in g ept where in we can measure it.

B. Economic growth is an objective conc

Choose the correct answer : %) AandB both
1)  Bonly 4) Aonl

53; Neither A nor B 4) y

DO/ ey ?
K 0% (B0 amgpsed® @ B D
igé éi%é ?ﬁ;éjozﬁoao;éomé%maé ip0 BAArgBe’ (GDP) ) Beorotse 8RS HBR Doy

B Q¥ $)3 w6 S (objective) g, BN EHER08 Devotot.

JBS DXGEry doE S50

(3) A8 BBotr s @)  ASrED

kgéf;gi;tge fouomT?e%fmolo gical backwardness is one of the features of under.deve!oped co;:/lgi;: .
ReasonR: High level of capital formatic.m in underdev.eloped countries failed to s of
technological backwardness in these countries.

Choose the correct answer : B

(1)  Aistrueand Ris true. But R is not the correct explanation for A.

(@)  AistruebutRis false.

(3)  Aisfalse but R is true.

(4)  Aistrueand Ris true. R is the correct explanation for A.

Bobd B $8KBHE

(BEPES A : P08 IhLerendso o0 )G BodS Tero a8 oFwo.

8o R : oY FodS Brost ) NS 3(;033 Bt HoScehiso, & Berodtd PoIBE Idoerendso
S035%0 $0:B0STERE w08, i

SBN BBrEEIe) o Bakosv :

(1) A=y H6a» R 2.3p. 520 A% REBS D58es so

@ Aadpsd R &dy. ‘

B A&y s Ready. »

(4)  Aedy S0 Redp. A R3BS 956w,

Which of the following governmental portalsis related té laﬁd acquisition for highways ?

(1)  Bhoomi Aadigrahan (2)  National Highways of India
(3)  Highways land acquisition (4)  Bhoomi Rashi

800 86" 26 3o B0 sHEBRS HoroBOns (e 956 ?

D 4 soufed : 2 rBS eBoh Semethen

() 3R ool w8 @ g od

B.  Around 791lakh people migr

Choose the correct answer : =

(1) BothAandB @ Bonly

() Aonly (4  NeitherA norB

FOEBIE™ Sosep 2011 avgs Kerose, 50805005 806 st Da/o $58/0 2
A oo 4.80 5% 08 (Hasen ﬁ&'segma 8%0 285 m@ge)é) Jod 39*;)6)

B. '

(D A8 BBogy

2 Bsmgd
B Asmsd ,

@  ADBS» BBowr =

Z B




" . . shts of Persons wj .
106 | reons with disabilities (pyyy Pllties 5,

Right to equality en]()y P 016 Provides the i
Life with dignity es that the appropriate government shall ensure that the
Respect for his/her i

(Choose the correct answey . “egrity Cqually v

0 B and Conly Y With others

dC

0 o B;o; & @) Conly

a0l N0 DO 2016 T (5 @, A
5 T (DeHes and B only

A SHPEEGRD) oK) 3 808 g

: A 3B &Unéome» WgDoBer/aiobiomer 55 550

B. ﬁ”éé@/)ég%é égbéo (ﬁﬁtséom ég)o{s £ 3

s8B08 SEmtor &5 o muﬂ; VO

of 49 HEFEPRY DoDE Bckog - ?ﬁaﬁ"gggomo

1) B 0805w C X0 e
3 ABSOIDC

—_—

09 Comgd
@ Asocn B ErED

—

As per the Prohibition of Employment as
scavenging prohibited in India ?”
(1) December 2013 @  June 2015

Manual Scavengers and their Rehabilitation Act’, when is the manual

7 (3) January2016  (4) May 2013
“SriiogS FBoaBye GIFH AHGoS “ ol
9 P IndoSa8od ? BoBEo LB 6 HsTrars Q0" (B0, FESTEoS® Swidngsd JmBoRon

(1) &Rowb 2013 @ @8 2015 )

B) 2530 2016 @ 2013

5 108. :Nhlc;l of ;he following terms captures a situatigh where migrants maintain their rural base and migrate periodically
o urban ? - ;
(1)  Seasonal migration  Circular migration
(3)  Dislocatory migration = Translocatory migration
Sosmethen S ([eaoes a;écoa)& BB INOY, TEFIHEROMT HE (FPosPo BV 38) $038 S0l &S Do

BOHEK00 ? : ,
3 Sfoh 0B

1), G&d Geds) S Q)
() BIE"Bed Hd @) (EHFEed Hud

ated to environmental pollution are true ?

f environmental pollution. _
id rain i ost dan ms O pally .
el ue to increase in environmental pollution levelin atmosphere.

lé GDlObal warminglfr;b;e Evi:;si in environment, 0zone layer depletion is taking place over time.
. ue to rise in pollutio Y

109. Which of the following statements rel
gerous for

Choose the correct answer - _‘ (2) -~ AandBonly
gt SoendesR8 Somotod 0P wgﬁ’s@ ;s;sw grewilgo G0, &8 BEo.
A 15 o EEREEES BT o it daroom dredo I 0.
R ® 0o ¥ st T B £S &6 S0
C" TS50 (atnlosphere) = K800 mvano’ o0 K&é é‘% & SEINOW.
Somg5e008° SoeoR0 po0
B Sisrpaegy dobS DIV o ASOD s
() A o050 CEPED
B 05w C SIS @ o
B ABosamC @ [E_E e

Ey
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As per the Tenth Five Year Plan, Vol. 1, 1

T s/ urb;
Under which schedule of the Constitution of India, urban planning is the function of urban local bodie / arban

development authorities ?

(1) 11% Schedule @ 10" Schedule @) 8thgchedule (4)  12th Schedule
58 Trengorios™ D Riirgd @B, HPE SRS ID Baey ey Sogofoymnig 9030 20
W 1S xS Q) 105 2SS ® 85 old;!gé @) 125 aff»"’é

lanning Commission, mateh the following poverty categories with their

poverty ratios for the year 1999-2000.
Poverty category Poverty ratio

A Rural Poverty I 23.6

B. Urban Poverty IL 24.6

C Combined Poverty m 261

V. 271

Choose the correct pairs :
(1) A-IV,BI,CII (2 ALB-ILCIm

(3)  A-IV,BILCI 4 AILBI,CII 4
DED wo:ﬁéé (Deed, Jeergo-1, (SeeE D00 (Hsebo, Bos sy BBKSerSy 1999-2000 05GPS 8

DSBE 500.3)6)055 BSEIBHIW ¢

DEBE Suite Doy a@a
A (e HSsBEo L 23.6
B. Qe &880 oL 246
C o8& (BoBok) udo m 261
V. 271 —

8BS 280 Q0D Saiosw :

(1)  AIV,BLCII @ ALBILCIT -

(G A-V,BILCI 4 AILBLCH
Articles 25 to 28 of the Indian Constitution indicate which of the foll

(1)  Freedom of religion (@  Equality beforelaw
(3)  Affirmative action (4)  Freedom of speech

g5 TRersorfost) 25 008 28 $5% &%) @B 808 TBSE B $rA%0d ?

(1) S o(siﬁg)' (2 B&o JwodH SIS0

B) Yo S8 4)  °5 xEoEso

Which of the following statements about ‘Pey Jal Survekshan’ (P]S) is/are correct ?

A.  Itislaunched as part of AMRUT 2.0 mission. 3

B. It intends to encourage healthy competition among gram panchayats in the quality, quantity and coverage
of water supply.

Choose the correct answer : ‘

(1) Bonly (2 BothAandB

(3)  Neither AnorB 4 Aonly

D 26 SERE’ 50205095 808 Fsases® HB/HD $BIL/D ?

A 6D 058 2.0 (AMRUT 2.0) 5S6® grfore (FeE08omt.

B. Q& $8350° reagd, $0mm0 0080 858868 (e HorahBo oy «EHssIN 2589 @bay2romred
a8 &G80008.

SBS SSrEeTeR) OHEED :

1) BSrEd (), ASdu»BBor

)  A%Bas» BBokr 52 @)  ASHSD

z ED
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atCh ﬂ\e fOllOWlng mol'tality . .
. Indicators wi .
Survey 2022’23 . S wlth thelr rat l . . . .« s .
Mortality Indicator es (per 1000 live births) in India in 2020 as per the EconomiC
A, Infant mortality rate Rate
B. Neonatal mortality rate }I 20
. 28
Choose the correct pairs : o 32
() ALBI @ A
2022-23 6B KBy Bs*o, 2())20 &8 ;g;g - () ALBI (4)  AILBI
508 06%-8op, Here SrDsu 6 BHB (65 Jow H45 2dTow)
Sbere IrQE 3&35
A BE HoBesrer Bew 1 b
B. $Heed BE Hodesre Teo I - 28
1L 32

$BS B0 NodE Tasokm i

(1) A-LBI 2y A-ILB-II S (3)  ALBI 4 AILBI

ﬁ:l;one of the following measures generally addresses the problem of income inequalities to a certain extent in
(1)  Subsidies to large industrialists

(2) Removing social security measures

()  Relaxing control over monopolies

(4)  Progressive income tax policy

& BB SE50E* DB rEEBEeS® swrab eRErSSy SR 0% B8 HO{DB ?

Q) g FoEwESges shbes agwo
Q) odes YEee SBEOR RS ISIerealetnlvle
(B) DEIRFOR Ddo|geeedn JKdoBEo
@)  HErD ewrchd Sy Deve

Which one of the following concepts of unemplc
employed or unemployed or outside the labour:
(1)  Currentdaily status @)
(3)  Usual status

& (BoB O VGEHE gSS @8 58 ey, D
BOa%H B0 ?

1) (SigE Sead Fov @ % Somd Fgede Fo
3) Sogredes b;oa) o @) (B8 -8 EJ@‘;QD (status)

Which of the following statements related to New Human Development Index of United Nations Development

Programme (UNDP) is/ are true ?
A Itisageometric mean of three indices

used for the construction of Human Development Index.

B. New Human Development Index is introduced by the United Nations Development Programme after
Covid-2019. -

Eil)\oosnle3 t(l)\ﬁl correct answer: 5 * AandB both

3) Neitg’er AnorB @ A only

N8 H080B0ND (Bob RS’ DBV sy ?

S 2B o Gt S8R SrES SO o
pEsoreyy S8 ©PHR DPSO V% % peinse e . et 0

A Ssh eBHQ 08 A T SHARNCS et B
S5 @R JrDE. £

B.  &595-2019 SO%E wEgorey o8 ofH3 OF

¥ DEFGRRPQ DOBY Vo :

(1) BawED

(3) ABaso BBokr 52

%o (UNDP) $788 S5 o8R8 $rH (BIEDGOB.

A S00350 BBoe
4)  ASESD

[z: 35 P.T.O.
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119.

120.

121.

ET

(1)  Monopolistic practices () Social anq Cultural factors
(3  Pricerigidity factors (‘i) . Market imperfections

& (800 D wgEss so5Ko wQSPHED w08 SEIROE 7

(1) oE6BEs S () Sokos oo, oyl s
B) &8 s sy (4)  Sogyes ©HOSPL e

. - . ing years :
Arrange the following welfare programmes in India in chronological order based on their laund;;nflg’
A. Jawahar Rozgar Yojana B. Integrated Rural Dev elopment Prog.ra A
C Swarna Jayanti Gram Swarojgar Yojana D. __Swarna Jayanti Shahari Rozgar Yojan

Choose the correct answer :

(1 D,AB,C 2 ABCD ®) " BAD,C @ CBAD
Bod JoFh BFeRs B (DB0DoDS H0BEB0 smesem SOESPEOIB0 @B -

A 2558 SEME @ B. éﬁ)é@)é Lmﬁbwaéﬁg% HEgo

G RE 2008 (e $E8SmE doress D %8 escho8 258 5586 Gred
885 DBGPTeR) Do Basodm :

(1) D,A,B,C @ ABCGCD 34— B,A,D,C @ CBAD

Match the following environmental acts with their year of enactment :
Environment Related Acts 5, | Year of Enactment

A The Environment Protection Act = L 1972
B.  The Water (Prevention and Control of Pollution) Act o 1981
C. The Air (Prevention and Control of Pollution) Act -~ m 1974
D.  The Wild Life Protection Act Iy IV. 1986
Choose the correct answer : : N—

(1)  A-IB-II,CIV, D-IT (2 A-IV,BI,CJII, DI

(3)  A-IV,BII,CJID-I 4 A-LBICIO DIV

(Bod Soessises BEPODH @ FES ErSo Do) (enact) DOSEBL0S® 38583H5w.

So%Ses Sowols iﬁégo ISBrHo I SodSso

A Sousste 58550 Sio L 1972
B. D8 (scensy daedes $6ako Nabo(ges) Ség0 I 1981

C  m™® (sPesly Darses HoBw QaDo(g8es) oo m 1974

D 585 Brewe S S0 V. 1986

BOZLS asaranido D&lod. i |

(1) A-LB-ILCIV,DIIl (2  A-V,BI,C-I,D-I

()  A-IV,BII,CI, DI (4 A-LBI,CI,D-IV

Arrange the following years in ascending order based on India’s Human Development Index value in each
ear:

X 2019 B. 2021 C. 2022

Choose the correct answer :

1 ABC @ BA,C 3 ACB 4 BCA

fo& ézc(ﬁ?mo:&, @ éoaéé‘gme)f egvéj)az-f S55 @é)ase)g Kmi)écc"i)wézzsgéom 88 5gs ESooest X0t ¢

9B BSrLrR) dodE Bcasosy | |

0 ABcC 2 BAcC 3 ACB @ BCA

=
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which of the followin, ele
Government of India ?g ents Capture the 3Ca

A, Converge acrogs levels
C. Competition amon,

g state et
Choose the correct answer >and districts

. Corporate social responsibility
: D.

PProach as part of Aspirational Districts Programme (ADP) of

Collaboration between civil society and government
() A,BandD only

(3) B,CandD only )
o8 (D5HS BESS &
Holrf&eFean ?

" @a;?ﬁ e B, 8hB65 rsrag artgs

(@ To(&een, Bero 53(55 D . o

8% ‘é&’mqrav:o& 0B Bty D. 28 S0 SoBkm (Dgheko g dsFEeLo
1) A BB D Sms
B3) B, C50Btm D Smigd

A,Cand D only

i @4 AB
L‘&%) @’SLW’O (e—ssvog and C only

@ A C2B0sw DSHED
@~ A, BSbaso Cam@d
Match the following dam/ projects with their r

égpecﬁve states:
Name of the Dam/Project

State
A. RengaliDam L Gujarat
B. Ukai Dam I.  Maharashtra
G Bargi Project M. Odisha

IV.  Madhya Pradesh
Choose the correct answer :

(1) A, B-I,CI @ AMBLCIV. () ALBILCIV (4 AlIV,BLCII
808 s/ BEQe & Sonohs TEpos® eES5508a.
Ty SofaE D Tge
A, Bored wegd L (697 l0d5)
B. SEPOW G5 L oy
c 20 @Daé)u M a8
V.  $6eas

SRS ALY oY VAiwH»
(1) ALBILCI @ AIBLCIV () ALBICIV (4 AIVBLCII
Which of the following are the social security welfare schemes introduced by the Government of India ?
A.  Atal Pension Yojana (APY)
B. Pradhan Mantri Jeevan Jyoti Yojana (PM]]Y)
C.  Pradhan Mantri Suraksha Bima Yojana (PMSBY)
Choose the correct answer :
(2 BandConly
=
Bod Bt DD g8 (Dgb&o EEEEN PLrBE | Hefseen ?
A 68 DY Bred (APY)
B (S588 S0l d5% &5e arad (PMIJY)
C o Soo® vy D @red (PMSBY)
$BS DEPGRQ) DOBE DAk !
(1) ASobak C S
3)~ A, B3Bc»C

() B0k CEmESDd
@)  ABDoH BSrEEd

Z 37

BeR SEo-ADP) & geriore 3C Dprardy Bob BE* O wozoen

P.T.O.
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.1 . § .
e highlights of the revised ‘National Rehabilitation and Resettlemen Pohcy’

2007’ of the Government of India ?' ' sible
A. Land for land as compensation, if PO’;S -
Principle of rehabilitation before displaceme

B. : |
C.  Policy covers all cases of voluntary displacement

Choose the correct answer : i

(1) AandBonly @ A a};‘d ((i (()?]y

(3) Bonly - 4 o ” 40 2007 GB0E), S0g0¥o(
800 TBS® grSe (HgHE0E HHO0RED ‘B BFDOTAS O HSTS DGPGo : )
DO/ ?

A OBB 48 g0 HoBEorT aByEo
B, SEo¥o Snoth HEoeae Aahio
C «‘656")0(5 3;26@,50%0 D) @K&é@@iﬁ) & dgrdo 8H6 3@0&

JIBS BSrErae) DodE Vo :
(1) A8 B S (2) ABci» C So(esad
(3) B3mED @) A, BSBS»C

Which of the following are the salient features of National Educational Policy, 2020 ?
A.  New curricular and pedagogical structure (5+3+3—h§1).

B. Equitable and inclusive education. e
C.  Increasing gross enrolment ratio (GER) in highereducation to 60%.

D. Light but tight regulation.

Choose the correct answer :

(1) A,BandConly 2
3 AandDonly @ :
808 B wPBAD Dy DeESo 2020° T ooz oFEren D ?

A 58 Fogomen S0 ST D020 (5+3+3+4)--
B.  R&rSd dbckn S Dess £y
C &8 255S° Ko ST B 60% & Dosio

D. 80¢ 8 0 K8 dadoles

$BS SErErrR) odE Baswdw : :

(1)~ A, B85 C Sm(gsad (2 B,C3%8a% D S\

(B) A%805 D Sm$h @) A,B 085 D S

Which of the following statements is/are true in relation to the environment ?

A.  Kenneth Boulding, by observing the problems of dégradation and pollution of environment globally, called

the Earth as “a plundered planet’. :
B. The environment encompasses all the biotic an abiotic elements on the planet earth.

= Environment has physical and biological dimensions only.
Choose the correct answer : £33
(1)  AandBonly @  Bonly
53) A,BandC 4)  BandConly
DTHBETA8 H0200509) (8o Tsased® D6/ adp %
A 5005 Indo DS K0 BovSse Eod BBy o
$ DR, Do Geadt BB BOUWHBE SPeds HEKOEo SRS D
8RS TR & ‘650 BchersS (3550’ 9 DHBowes., e ’ 08 ’
g. ?7"@{83"0&) &S0 6:) 50805 B0 BenHoBd womre ESEVVLN oIS SoegSBen0.
: :ooggééeao F°8E 508050 BS d0e00¢5 Eeaoersy SoEB5H EOA &0tnod.
RBR BSrgeard) Do Scsnsy -
(1)  As0Buio B SmsS ) BSwEDH
G)c A BB C 4) BB C Soo(esh

ir 4 . -
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Consider the following in relatiop, to forest

Assertion A The first editj Policies in India.
reasonR: The aiem of On of Nationa] Forest Policy in India came into effectin 1948.
. (8 : . 3
environmentt;llitl;lgﬁonal Forest Policy that came into effect in 1980s was to maintain
ility through preservation and restoration of ecological balance.
Choose the correct answer :

Qn A is true and R is true. ButR is not th
e cor i
() AdistruebutRis false. rect explanation for A.

@) AisfalsebutRis true.

4 A s true and Riis true. Ris the Cofrect explanation for A.

FBE308° ©0d DTV SowoRONS 18ob T8 BoKBoHD.

BOFES Az grEEBY0S" Intsd erBH ©6d Dro 1948 & ewrends Sob.

s6mo R: So%Se deess Bey8done S, HoegHtes H0Boegs @66)%505@0 o SomgRtee
0B S0 1980 ©6° esoensta S erBD ©&d Jgrdo TwE) eééo.

OGS BEPGQ) JodE Bohosw :

(1) A $0a Reaiy. 0 AHREDS de .

@ Aeabyp =D REDY.

() A&y = Rady.

(@) A=l HBSwRadp. AH R

The Government of India made some changes in the Constitution of India relating to education sector. In this
context, match the following acts with their enactment years :

Act Year

A.  Rightto Education Act L 1976
B.  TheConstitution (Forty-second Amendment) Act oL 1989
C.  TheConstitution (Eighty-sixth Amendment) Act m 2002

/ Iv. 2009

Choose the correct ?airs : .
(1) AJILBLCIV 2 AIVBLCI 3 A-IBIV,CIO @) A-IV,B],CI

gri8 (Hgheko Doy Borrds ‘éoao@déﬁé ulett U°8°§OKO<’36 Q) Sriyen Bod. B éocségoés 808 Setrod
B Sepen BB BodSTros® 8SHY0S , ®

S&0 Jod&vo
ey o8 SO ' L 1976 '
B.  oregor (425 $50e9) B0 L 1989
orezgols (8635 $58es) QO m 2002
v 2009

8BS BErerTe) DodE Baskosw :

() AILBLCIV @ AIV,BICI 3 AILBIV,CII (4 AIV,BLCII

39 P.T.O.
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i e ts related to the concept of economic development are true ?
Which of the following statemen — considered as the measuring rod of economic development.
Generally, real national inco petween the level of real national income and the level of eco“omiQ |

A‘ . .
B. There is a positive association
development. . ] income in theshort period is an essential condition for accelerag
“ . . o tiona mco p l-u‘g
C Continuous increase in real na ‘
economic development.
Choose the correct answer : 2) A St onl
B onl ( Conly
1) A and B only ) B &d € only

®) A,Band C S8 O aHp?
o O PN a.oag): !

igsaé?g@?ig;ﬁ:?:ﬁi;j g‘f"%mﬁ igs"%e)@ Sgarsor ai@rA.

B, R erdairmeah dpond £0a e Jpand Sy ol Sowoto ¢otnol. 5

C SFeos® s ebarmranod® EHES DEIHEe o3 sl ArHoso DAL Efy

Q220H3.
8BS BErErarR) DodE Schosw :
(1) A8 B SmE$D (2 AB0%0 C e
(4) BSoB® C Sl

B) A,BXdow C,
Which of the following statements is/are true in relation to Brundtland Commission Report ?

A.  This Commission report was published in 1997, e,
B. This Commission report is also known as ‘Our Cemmon Future’.
Choose the correct answer : £f 3

(1)  Bonly (2) Aand}
(3)  Neither AnorB 4 A only.
[@o&ersol E0%S ITOEH Sowohod (Bob 32333?3065:32&/238) ady ?
A S EDRS ITBED 1997 S SoE)B0S® (HihBoS0 20A0s.

& SDHS VBOED W% @0t FIKE’ @ ErE BHE.

B.
$BE SSFEPTRY) oY BFasodw : —

(1) B&rED (2) ABu»BBoLr
(B) A 5805 BBokr 508 @ ASRESD

Development that meets the needs of the present generation without compromising the ability of future generation

to meet their own needs is called as :
(1)  Balanced development

(3)  Sustainable development
FILE Soren EH SKTOKH 85NHTot esedo O, (&

DD SeoFdd ?

1) [oHds @é)ée)g 2 306 @é)ée)g

(B) SRS P @) 3@95@5 ©DHB
Which of the following is one of the core values that'serve as a conceptual basis and practical guideline fot
understanding the inner meaning of development? - -

(1) Absence of sovereignty (2)  Self-esteem

(3)  Lackof freedom (4)  Fail tosatisfy basic needs

Bod T8S° O (H5e Dens (core value) DB Do) WoSHIFS O, OSTPN BeESers SN

laulelela LINVSTOWY) @66&@&& RS8P SI@BrrHES08 ?

(2)  Diversified development

(4)  Fastdevelopment
08 Sore ©SITOk o)y H8 SlaRyos

~

) foqgea**m@socso BEESer0 @ eHTss0

B) T seso @ EDE estoes B5nE%BE Deseoo
The target year for the achievement of al] sustainable development goalsis:

9)9 2030 2 2026 (3)" 2040 @) 2047
DRDHB oFTen ©NoBY o Sos&)80 H5% PHOTD) Sotnod ?

(D~ 2030 @ 2026 (3) 2040 @ 2047

< 40
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Thermal pollution jg s

() Water 8<% associateq with
¥ oo 4 “ Soi .
= %S& O PeSore g 60&.211 —
6 TR KO dorper)y O @ A
'The Right to Fair Com )
came 1'12150 effectin the yle’;n?ahon and Transparenc (.3) B0 @ ™
‘(1) . 5611 5 ) g Yy in Land Acquisition, Rehabilitation and Resettlement’ Act
g VB0, JITTHo $obaky @) 2015 4
500068 S8 ? VR watigs soss e
O phloge ) ! o HBBJ®Bo KBS #6666,3%6 S8y rf)éa))o & K)ozﬁé‘séoé‘s
@ 2014
Match th i f -
N:tions Sé%g?m% yf ;r S with the title/ therfi’e; f e G
Year pment Programme jp, each of ¢ ©of Human Development Reports (HDRs) published by the United
w Do | Titleftheme of HDR Bvenyears:
uman De
g %g%g I Real Wealﬂﬁ%?l&?fint fo-r o cyane
= So1c ?VI, Work for Human D:‘:;Slégathv:ays to Human Development
] . Sustainahils lopmen
Choose the correct answes :ustamablhty and Equity : A Better Future for All
8 ﬁ?ﬁ%\lf b e )  AIV,BI,CI1,D-I
~1, ,C.. ,D- =LV, y "1, L=
P - {4 AILBILCLDIV

808 /a8%)%0 (title/theme) & assSESos0 T
HOMEPO &S ofg 3as dog/avHgo

808 s )
S08 NoBHIODH, @ Sores® niray 1w edHY SEo B0 SrEH wPhg B8 I

A 2011 L (58 e508 5355 o))
B. 2010 I 3 SR RODE : S
. B IV WD 1 Z°0H 8X)R8 drTren
C. 2016 M 558 ed)f 56 3 Babo
D. 2015 V. SR8 $8ckn 35 : @088 H0d FIH
8BS DEFGETR) oY VAsww |
(1) A-JIBLCIV,DI (@ AIV,BI,CLDII
(3) A-LBIV,CILD-I (4)  AILB-ILCLDIV

Which of the following statements is/ are true in relation to the measurement of income inequalities ?
A. Lorenz curve is used to measure income inequalities.

B. Laffer curve is used to measure absolute income inequality.
Choose the correct answer : '

(1) Bonly (20 AandBboth
(3) Neither AnorB (4 Aonly

e BEEFEEe Fost $onosod (808 e’ DO wly ?

A emdh essrssosH Foserds 6o SE0e EHBPAFE.

B Q55K swah exsrse) Foserds oib H(EBP BHRPARL.
¥ SEFGRAPQ DoDE VA : {20

(1) B&SwED

(3) ABBBOER 5D -4
Whi Ilowing committees were constituted for the purpose of poverty estimation in India ?
A Chziltlléifgaﬁyai (giommittee B. - Rangarajan Committee C.  Tendulkar Committee

A $o8350 BBos»
A (@D

oo el () AandConly
(3) A,Band C .-(4) A and B only
& (80B Edos® DD 5,56%0 @oSe S5 JUE0 Bt ?
A o8 croow §08 B, SorioesS s C.  Botref 2
¥BS BETGETRY DoBE Sosodm :
(1) B0oko CERED | ¥ Amdﬁ»ccﬁ?@ﬁg
@) A BdawC | 4y ASOcnBINS
Z 41 P.T.O.
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. st Survey (PLFS d
According to the Periodic Labour Force Yy K ) of Key Emp] Joyment Indicators for
Jan-Dec 2023, the percentage of unemploy ed p;rsons in the laboyy forE e“g';‘:(’)‘:\/g:?“p oy

(2) Unemploymentrate o

(1)  Labour force participation rate.
Unemployment-population ratio 4)  Worke r-population raic

3 5
éﬁz;wé ad, &)&35‘99311 Qoo Een azéz{)@—&?:)oaﬁ 2023 @Jﬁ& SO (mang 58 55 — 0y % %2 (labour
force) &° K)ES){S’BPSK)QDW &l S5 Boerd) D00 DV ? = o
1) DS D o 38 Dew- 2) DA Bess

@) OB AS-aeer MY )

Which of the following statements is/are true in relation to ‘below poverty line census’ in tdia?
The Ministry of Health and Rural Development of Government of India has been conducting below poverty

SPOY8 ~asogm A58

A
line census since 2007.
B. Below poverty line census in India conducted in 2002 was baseq on 16 measurable socio economic factors,
Choose the correct answer :
(1) Bonly (2)  AandBboth
(4)  Aonly

(3)  Neither AnorB
FESRZ0S® O T BIHSS &) aTer BHOLH Jowosod Bos Tspgost DB/ Wy 7

L— L L
GOS8 (54083 % O (PAETPYR BB w2007 5 ot S0l O OP BIHIL &g

B3> BV ErrolN0R.

B. 2002 &% BrRroBodS m@t{.ﬁg B &ﬁbz{:é 6?6& QTP 652,@ BeSKOAS 16 o0 e—sgé S°C5S°b§5
SEPEHE GIRow.

8B SLEeGrarQ) JodE Fakwsm :

(1) B&eED

(3) A So8cio BBokr 5°8) ) ASRED

First schedule on compensation for land OWRer: as per Right to Fair Compensation and Transparency in Land

Acquisition, Rehabilitation and Resettlement Aet 2013 does not include the following :

(1)  Solatium i
Value of assets attached to land or building

2

((3)) Subsistence grant for displaced families for a period of one year
(4)  Marketvalue of land

TgehPS S SO0, FBEYES, GOEsen, OFDOTES 0 HITaH B0 2013 &% InEd AEwgS,
808 BS* DA EOASHOEBE ?

(1) 788 reabo Soe Bepd) 68 3P0 (solatium) 5

2) $Qo& =8 Tadals a0 Dend Boe EQEEne Deod

(3) FX(goFo Dok 08 FoSHS oY ESS 48 B BSTeEeS S0
@) &b SrTxS Dend ;

Which of the following are stated directly mSu ainable Development Goals ?
A.  Noise pollution eradication - B~  Climate action

C Sustainable cities and communities ~ D,  Himalayan ecosystem

Choose the correct answer : i

(1) B,CandDonly (2 ADandEonly

(3) B,CandEonly “ 4 A BandConly

KD?%CS @é)c‘éaég 05"5066 (Sustainable Developﬁiéht Goals) (8o& &° 8S® O Jtore BFDoBEID ?
B: TeEedes ST (climate action)

ERSPUs Ho%sSSE S50 E. 38 8o %0

A

A $8050 BBokw

E. Life Below Water

A. %acg svenéé :‘Oti:v&e):s

C B2 Siforen $oBcky Sogiren D.
BOEoS axeenily A&l :

(1) B, C&00 D S @) A D8ako ESrEd
@ B, Ci5o005 E simasi @) A, BoBa C S

y 4 42
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which of the following ¢ tatem
en

The Planning C Telag
A g OMmMjge; ed to the
in Lakdawala Commlistilo of India the concept of poverty in Indi
st
~ere timateq poverty in India in 1997 based on the methodology con

B According to Plannp, Porton Poverty

capita consumption 8 CommisSi -
Per .\ Spoverty estimates of 1997, the poverty line was fixed

aaretrue?
tained

at Rs.49.09 per

- \ m
areas at 1973-74 priceg h ONth in yypap ; ; ,
C S mningC Nationg] ol areas and Rs. 56.64 per capita consu mption per month in urban
: nnng Commisgjgp &
daily calorie i 91997 ey

y requirement £2 4§8hmﬁt§s of poverty, the poverty line is also defined in terms of per capita
Choose the correct answer ; 90 calories and 2,100 calories in urban and rural areas respectively.
1) A and C only l
o) A and B only @ AdBandC

53808 HKOY - (4) BandConly
g0 O I Bomogod Bog a6’ 59 853 7

=5
A 2KB50 ©gsahKo 9HB
$0300 19975856 wééaf(;i@? 253? 0D o¥maree E08 36585 POV AITALY ég& esgrdorr grod (Peseds®
DSBS wosT 308
(B oo 199 2 :
B ;} e ééo;” @oo; f;%éé £1508 w0 S, 1973745506 [riim Frogod 49.098ra0R
“ y o8P 56.64 Erdroso: Jexd E0d DV 5000 36 apdcsH pond® TS Bpre
FaYe0 20A08. ey ®

C (el oo 1997 & THES BdE eoseo 8 Si5530 Sgpbe siFbo [P0
400 segpden D08 Bypre Qoo 20R0B.

. Prozed® 2,100 spben £00 Hige (Foeos: 2
535 SETEPRERY DOBE Vaknn :
(1) ALBcio C (&8 @r

(3) Asbas» B Sm(&D @) Bé:@oﬁ»Caﬁr@éfn

income inequalitie’é: inIndia:

Consider the following relating to
hip is one of the reasons for income inequalities in rural India.

Assertion A: Inequalities in ]land owners
The presence of inflationary conditions in India also contributed to the existence of income

ReasonR:
inequalities in India.

Choose the correct answer -
(1)  Aistrueand Ris true But Ris not

()  Ais true but Risfalse-
()  Aisfalse but Ris trué .
4)  Aistrueand Ris trué R is the correct explanation for A.
PEETI0S esrad @;()é?;ééoéb ?\/90330@03 §ob ;o&?\) oriBos s :
B8 & &) PRI (a0 S H08° Srrad ETHEPIEOD 8 So5E00.
> :
o cﬁi A: g oﬁ;‘ajéi: ol soqie koo SEPGD SITTHELD BOLEPIS Fsetso Bevom.
@woR: grESRE0 3.
38 t55rorerty DobE B (o i
) Angyp soawReDY = e
@ Ay s REDY
() Asgp s R o 055
W Aegy sbam Re: ABH RS
lz:] 43 P.T.O.

the correct explanation for A.




i ia in chronological order on the basis of their enactment.
i d to women in India in ¢ g
146. Arrange the following acts relate

147.

148.

ET

A. The Dowry Prohibition Act . A
i t
B. Protection of Women from Domestic Violence Ac

ibition of Child Marriage Act
C ;:Oh]ll)ll_l Oﬂaosment of Women at Work-place (Prevention, Prohibition and Re dressal) Act
xual Haras

D.

Choose the correct order :
(1) D,CBA @ AGCDB G CABD 4 ABCD

FOETE DI FOH 5020600 808 SEpo O SEPBS Sosdre wrrtomr seEsmidrEonT 08K

A SBEE) DRGS 80

B, i 208 008 Hlete G5 $5G0

C  ereg dardte I 830

D. Do S ($E808® Bons 36090 (AT, Jao B DBaYB0) BEo

ST (B8R QodE Sakwsw

(1) D,GBA 2 ACDB 3 CA,BD @4 ABCD

The World Bank classification of developing countries is based on which of the following ?

(I)  Level of gross national income (GNI) per capita
(2)  Levelof gross value added (GVA) at market prices
()  Levels of gross saving and investmentin the economy

(4)  Level of gross government expenditure
E50F ergot> Tof) @8 Do) e S886m (Bod B 3P SESE @08 ?

1) Sosd Spo erdarmrad o H '

(D) EFORS GBes® Hpe Dens $H80% oo

(B) B8 55t Rpe Y HOWD Déyed Spowen

@ K%bea (54D g 3;000

Which of the following statements related to Physical Quality of Life Index (PQLI) are true ?

A Lifeexpectancy, infant mortality and per capita income have been used to construct PQLI by Morris David

Morris.

B.  Itsscoreranges between 1 to 100. i
C. Itsscore of 1 represents the worst peff@::mance.
D.  Itsscore of 100 represents the best performance.
Choose the correct answer : .
(1) A,B,CandD (3 B,CandDonly
(3) Band Conly 4 AandDonly
TBE YL 55 5D (PQLI) 8 SomoBons (Bod arsases® 3D ady ?
a0 (5507630, B Soemen LBH Bod SRR SBEPACD BT WIE Fr6T &5 KD BroBom
B & 5rd D008 1508 100 55% doton,

& 500 D00 1P g0 ©a 3E HIBH $rD506.
D S rd 2o 100 a0l ep BEYEL HIBHS KorDK08.
RBS BT 9098 B :
(" A,BC 8% D @ B,C&8d5w D S
3
@) Bba Caimidy 4  A%B80% DsmEgDH

£z 4

-

o n




149. Which of the following senior citizens related schemes have been implemented by the Ministry of Social Justice

150.

ET

and Empowerment, Government of India ?

A State Action Plan for Senior Citizens (SAPStC)

B. Rashtriya Vayoshri Yojana (RVY)

& National Helpline for Senior Citizen (14567) - Elderline
D.  Integrated Programme for Able Women Citizens (IPAWC)
Choose the correct answer :

(1) CandDonly @ A BandC only
@) A,BCandD @) A,BandDonly
OS (HEDEy dSrRE a0, FHEBS Kwo@és o, g)@océacfnoé) 02006008 808 B HEen eien

T%08 ?
A S&raHe 8890 Teg/orey seUSSE (HeaBY (SAPSIC)

B. ooh ST EoresS (RVY)

C  SErHHesH B IPRTS (14567) - K08 (2685)
D, $5pps dotree e 8550 288 siysio (IPAWC)
35 (oénvcpméo‘; oY VSR :
(1) CLodcs» D S

(3) A B,C&8c»D

B 0B C $m(@
B %odcso D S| 830

Match the following schemes for urban poor with-their ob]ectlves /aims:
Scheme : Aim/Objective

A. Atal Mission for Rejuvenation and L nabling urban poor to access gainful self-employment
Urban Transformation (AMRUT) ’
2.0 Mission

B. Deendayal Antyodaya Yojana
National Urban Livelihoods
Mission (DAY-NULM)

C PM Street Vendor’s Atma Nirbhar M.  Tomakecities water secure
Nidhi (PM SV ANidhi) scheme

Choose the correct pairs :

To facilitate micro credit to street vendors in urban areas

(1)  AJILBILCI 2) AJIILBIL,CI (3) A-LBILCII @ ALBILCT
Hegen 350% $020000DS 8od HFseed T8 e>5°§e» 68@05" 285808
SEso éaéo/e gso
A @6 RS H5 BerSIAS W0k @S @53@6&@5 L H&es DEOE ergfTrcHERS  Jyako
(AMRUT) 2.0 205 &0 Sy
B. 85505 eossah @rad S8 @695 BS@OJ‘\)E‘J L 580 @osrod® (R JouGD Srgy D
BS (DAY-NULM) %°§6§o é@goﬁéoo
C (58 50@ [R5 Dok e 8)5 6 oM SKoced DO HEst sYosto
(PM SVAN:idhi) Hso
$BS 28 oY Daswdw :
(12/ A-TI,B-I,C-II (2) A-ILBI, CI 3) ALBILCIO @ AL B-II,CII
-00o0-
Z 45 PT.0




